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(( Grammar ))..d) Fza s i

i ) 3l o<l ((Grammar)) U ol Gy jlas Slia

? What is Grammar

. Grammar is defined as the rules that say how words are combined,
arranged and changed to show different meanings

18 saill g La
JHBY W S g g 5 g cilalsll poand oy ciiSana 65 Al 300 g8l 1 gadll Gy ol

e ccilalSl) sda Laie
teacher, student, question, asked

Il Saaludl oadaglon B culalsl) oda Jaad CiS |, Job 5 Jlud 28

>The teacher asked the student a question4lex Js
Lobie dlay L i ygdid LUK ) culalst) oda U ; Grammar 2 2 claeld DA (ha

>The student asked the teacher a 4uili Alaaasaid A S cad 3l 138l (Sae
question
WOV ) Sl 3 g2 qulldal) Ligh

i) A opilida pilan U pedd Gilaad) (il A Gl ) aiIDA e Jaadl
Wl 068 o "Grammar” sl Qg ¢ "Grammar” saidl JNA (e addiegida JS
)) 3 — Sl — il — placa (((ClalS (5 guu
il W Jaay i clalSl) oda U 5 131Y) dlbuay) oo gllaall inall (g s ) ) Lad
LA sadl a5 gl DA G JalS
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The largest unit of grammar is the sentence

Alaalla 4all) s ) g8l as g S



: ((Sentences))daall A1 o i Al

¢ alaadl A Lo i3
A sentence is a group of words that expresses a statement, question,
command or exclamation

ralaall 4dlidal) Types 4zl ) 038
1- Type statement
2- question Type
3- command Type
4- exclamation Type

.. A Sentence consists of one or more clause
WO (e SAS) gl saalg o e o (g giad dlarl)
.. and usually has at least one subject and verb
g Jad gaalg Jeld o s giad dlaplidale
: Types of Sentences
LB 580 Az ) L Alaad) ol LS Las

= :((Statement)) Js¥
$¢Statement sentencedsiball dlaat) A La
e glaa atiglanas
LA 20 ) Aga i Alaa 1 ey (( Declarative sentence )) Ul o 4

alaa s"Statement sentence"4xily Alax g 5 4laa (2 : He is studying<<Jie
"Declarative sentence"4uds a5 g} duay pal

) ot peddi(( s Jady add (o daglaa Like)

(( Statement sentence Wawid 4aslaall (o £ 32 glga gl Liikae ) Alal) odd Juad
(( Declarative sentence ))..s'))

..We can make statements affirmative or negative
LA o) Asiiagailand) dleadMand W) (Saal) (e



: | have found a mistake alreadyJta
"Statement sentence" ... bl £ 5 (s Al Alan Alaall oda

: | have not found any mistakes yet_al Juia
alaad) @Sl g1)) Gabaad) QL) B 3 g¥Lgland) Jnd o SOl LY Agdia dlay Aland) ola
" Statement sentence ".. (Sbulle sl e L) A, (( Akdall

: ((not - any - yet )) ..de lalS 3 ga g Badl ) () Guilaad) G BT a3 ol
(( negative 4xiia 4las Lgilsl iy 71, andal) (1ad dlaa A Lghaa 5 1) cilaldl) oda
sentence )) ..

Alay gl el ity clalSl) oda 1) clalS) o Lgs a3 65 D8 Alludlgland) Lol
((sentence affirmative )) .45
((affirmative & Aias cuilac"Statement sentence "4xbullgleaat) (e oo 53 0l3gd
negative ))

JIs~dl : ((Question )) dasdl (e (AL £ 5

¢ (( Question sentence ))J)sudlglan A Lo
ol e 238 o) daglaa oo Jluddleans
LAsalgdind dlaa: dray (( Interrogative sentence )) S35 S

:Jla
alaall oda 131 "asks for information"4asiee ¢ Jlaw g i) 13a[s he studying?<<
((Interrogative sentence)) ..s'((Question sentence))¢s s
) ST ot R JA(((Aasira (B Cay il

: Al Jla
o3 13) <"makes a request" b = oy £ 51N ?2Can | go study<<
((Interrogative sentence)) ..s)((Question sentence))l¢s sigtandl
de-\uﬁubd.au\Mch.dm
¥ ((Command)) s& Jeall (e &IB £ 4il)

¢¢Command sentence s¥) daa A Lo
1T ) ) B g) sl Janiglanad
LApaial) adaad) : daas ((Imperative sentence )) Lag) =X 2

:.Go to study Jtia
) s oridaiy ¢l o pald(( aaienal) jaly iaatiall Uia
(( Imperative s)((Command sentence ))4s s alaallada 131 ¢l g cuall ; 4 Jlad
sentence )) ..

- | Be careful AT Jtia
)) s sai (1o 0 ian o[ palienal) o 7 Ry cuaatiall Lia



(( Imperative s/((Command sentence ) 5 4laadl o8 131 ¢ 14| 14l J g
sentence )) ..

Command < jaasia) sdgh dlaad) ilgd 3 il Aadle 2a g3 AU Jliallplaay*
sentence ..
>+ : Exclamation s& Jasd) e &l £ i)

SExclamation sentence4maail) idaad) A Lo
Ldola g) g gad iaadiall e lin Ciua gl aadicidlens

"express the speaker’s &uaalall ) gl ciuay £ 5l 138 : | What a lovely day<<dia
) feeling"
(L5 55 Alaall o3 130 ¢, a galludi B Agalg La i (a5 52t Ciaay caantial) Uia
Exclamation sentence )) ..

"express the speaker’s Gaxaiall ) gud Chuay Lyl £ 5l 1 | Excellent<< AT Jla
) attitude"
(e dantladn 131 ¢, 0 9ad &y gnd Chaid £ L& 4n) g Ladie JUS alaal) o2a
Exclamation sentence )) ..
Exercise
JIdentify the type of each of the following sentences
a.statement b.questionc.command d.exclamation

1. ?How often do you come here
131>>da slaa (o it gd Alaal) (ganaa (0 L) ) € (g it Alaal) oy BadlS
dgalgding dlaa ol sali:
: b.question4glaY)

2.! How interesting this article is
S As Ol ¢ Ly (A(How)Aals 259 Cuan (e J) 3w daallyd) a5 7)) dgladly
(article ) Je\&l way 3 Jadl) (s s ) 929 Algdl) (B sla Jadl) o) Badli 7)) g 54
LAgdlal) Alealld Jeldl) aey Al Jadl) o)) g ral) (g
daat dlan o ol gad) 13>>Gaal Aadlay 4 gida dlaal) o) Laag) BaY 4
: d.exclamation4:a¥)

3. ! Hurry up before the train’s departure
(Hurry dalsa g o8 ¢ dgaat dlea Cusd alaal) o2 (81 g(1)= 4 giiagland) o)) aadld
131, >>adde Ul cady o)) U £ s O peabisall oy Craaiall 1306 aaiwall s Liaup)
BYIEPEN
: c.command4asay)



4. ? How interesting is this article
((2. ! How interesting this article is )) g2l 4l alagl) 8 i) ) glaal
(4. ? How interesting is this article)) :4laadl sda g

radlillgLand)
Jeldl) any I JxdIM-
adaadi A1 8 algdind dllia (u2-
Eaatal) ) gad Ciual3-
dalgdialdlen il (gf At ey 12>>

A 1) Adasd)
JeliNE ) Jadl]-
adaal) JA) B algdin dllia2-
daglra (& Gl
o A4l Qi g gh g<<Aalgding Alaa 2 131>>
: b.questionaay)

5.. This article is very interesting
Al dlea A 13Ic<Aaslra e 5 jalithe ) Alaad) o2y Juady
: a.statementasay)

Simple, Compound and Complex Sentences
odizall g A allcadarsl) Jaad)

O e gad upalle LRI Sy 715 448 6 Julad¥) Bale 330

odui aSubaelu (Y1 081 g dwdldl) @) plalaalld AS) Jlada JS L dic £1 931 23

ahsal) 4laal1- Simple sentence

: The man is hereJia
ddases dlas o2 131K <Jad — Jold 1 L

4.8 yal) 4laali2- Compound sentence
: The man is here, and he wants to see youdJia
> The man is here Js¥) 4laal)
>he wants to see you4kll alaadl
43S s dlaa A& 1dland + << paliky ) il

saizal) 4laali3- Complex sentence



: The man that wants to see you is hereJia
piiaa dlan A ]3I<<bina Ciaald ddasnd) Aleall Nithat b

. We will discuss compound and complex Sentences in detail in the coming

lectures
o Al &) plalaall B Juadilly salaall ggS sall Jad) GEBUS 7
Verbs Y|

The verb is the central unit ( nucleus ) of an English sentence ..
Ao ey dadl) o Adaall Aoy gialla s gll ggladll

LJriN g e dleal) Ay
Alaal) sl bl S5l sanucleus <<Aals s

Verbs can refer to actions or states
109Ss 2B Jadl)
refer to actions
nold) Ji8 (e Giaald Eilas) o 2a : run, walk and talk<<Jie

refer to states
. oaddl) Al e ali LS o2 1 want, have and be<<Jia

Main verbsvs.Helping verbs
025 LusaladY) a)Aslea¥ ) JApuala¥) Jlady)

. Each English sentence has a main verb
bl Jadile (g giad 4 JulaiVidall) 8 dlay JS

: Mohammed walked homeJia
wralad) a8l saWalked <<

: Khaled is happyJis
agrba) Jadl) gals <<

. Some sentences also require one or more helping verbs
o AS) gl da) g doblua Jadule g giad Jaad) (g

LAY JadY) 1 e ((auxiliary verbs)) s2s (liase 41 o lual) Jadl)



: He is coming to the meeting Jis
) Jad gh aelua Jab 0 (s ) Ua
bl Jad S ((coming )

: He could come here soondis
LAk 81 gl asblu J28 S (could ) Ba
o ) Jadll 92 (come) s
Helping verbs ( auxiliaries ) include:
A 55 b0 Lusal) JldY)

1. (be (is, am, are, was, were
2. have, has, had
3. do, does, did
4. Modal auxiliaries: can, could, shall, will, would, may, might.. etc

43 Ma
LAY (ary b dpbad Jlad) 15ig08 Y g Y 9 ) a3

: He is hereJie
oAl b ukaSidl) 08 (is) L

Exercise
JIdentify whether the underlined verb is the main verb or the helping verb of
each sentence below
a.main verbb.helping verb

1. Students like fast food
bl J28 gaLike<<
: a.main verb4asay)

2. He has enough money for the trip )
Jud Ala Ja Cacluca Jad ga Ja Alaplada A (g aoluia Jad(has) o LT L83 Las
¢ A|
bl J28 ga 131 AT Jud aa g Y, Y
: a.main verb4lay)

3. Khaled does not want to go to school today
selua Job sadoes <Jxdll Ll
(aba) Jad 52 want <Jadll
L laa J28 Gl gad) 131<<
: b.helping verb4sa¥)



4. He is helping me wash the dishes
=) J2dl) ahelping <Jadl)
Ao Lwaldladl) g2 (is) <Jadl) g
abadlad ga il gadl 131c<
: a.main verb4<laY)

5. He will arrive shortly
e lua Jad gawill <Jadl) Ll
bl J2d 9a arrive <Jadl) 4
e Localnd o) gall 131<<
: b.helping verb4sa¥)

Transitivity
JalS ra alaallisiat b 4y gad 438 Lgd) Alagd (AN (uy dalSligd ol ina cuille
el

: Verbs are divided into two groups based on transitivity
g gadl) Addlilula o (e gana ) acdii JadY)

: Intransitive verbsJ ¥ g si11-
o) U Y ) smia e AU Jail) endis Ay Jgria a siaal) JadY) A g
A dgdall (g ral) AlaiSa dlaal) (Y 4 gada

: Birds flyJia
JeUBirds <
J=8Fly <
LAdaall A Jsada 2 oY

: The man spokeJia
Je&The man <
J=8Spoke<
LAl 4 A grdada gy Y

: Transitive verbs A& g si112-
Jrilliacy Jodll Uid g ¢ JLS 581 Janl) pranaiigs J gada o 5 siaial) Jad¥) a9
LAdaad) e JaiSy 2R Jsrda A clha @M\ s ‘ém‘

:pand  MITransitive verbs) awdii
: Monotransitive verbs Js¥) adllf-
"one"..g3al 4l aalg AuMono <
w23 5 Jsrdadle (g giad Al Jad¥) A



: Khaled broke the windowJia
JetéKhaled <
Jxébroke <
43 J soiathe window <
"the window" .. 8 921 5 42 Jgaiaile ¢ giny 43 Monotransitive verbJaill ¢ gic

: Ditransitive verbs <Ll awdl)2.
Two...A5 5 O (AxDi <
WA (Y padaile g giad AN JBY) A

: Saleh gave Majid a penJia
JsléSaleh <
JadGave <
J9 4 JsdaMajid <
Ob 43 J grdea pen <
apen"..s: "Majid Laa g 4z (¥ saiasle g gy 43Y Ditransitive verbJsdll g sic

:Exercise
:Decide whether the underlined verbs are
a.intransitive b.monotransitive c.ditransitive

) 1. The student needs a pen
A Glsal) 13) (apen ) . <<shy daly 43 Jerdale (¢ giag needs Jadl
monotransitive verb
: b.monotransitive4sa¥

) 2. Ali told his friend a joke
& < sal) 130 (a joke) .. << (his friend) Lea s 43 (N s2ia o (s sias told Jadl)
ditransitive verb
: c.ditransitivedaay)

3. students study
intransitive verba <l sallliiccds Jgrda Ao s g8y Y study Jadl
: a.intransitivedslay)

) 4. students study books
3 ) sadl 131 (books) << 2 g 2l 4y Jerda Ao (g sia study Jadl)
monotransitive verb
:b.monotransitive4slay)



.. Note: Some verbs can be either intransitive or transitive
W Adaad) o addny 1A g<<da Y (oS A8 g dgamia (9SS 3B JladY) (anyiadiadle
Direct vs.Indirect Objects
il pad) 4 J prdallad ydladlgn J prdal)

.. As we saw in the previous section, ditransitive verbs take two objects.
One of these objects is called a direct object and the other one is called an
indirect object
LA O ke 3AU JladY) Gy gald) adallall 8 Lk Le Jia
S8 AV g il 4y griar dray ((direct object)) LS4 4v (¥ gdall G138 gaa)
wodla e 4y J eia; Jaay((indirect object))

:The indirect object comes first followed by the direct object in this example
4 Jordally &y o5 Jg¥) (B (Al (indirect object )) sl ad) 4y J sadall sals
((direct object)) ..l

: He gave me a bookdie
"indirect object” .. ilsa £ 43 Jgrda sAme <
"direct object".. »alm 43 Js28a s2a book <

: The indirect object is typically personal as in “me” in the previous
example, and “the man” in the following example
) ..madd((OsSs 33 "indirect object” &)

: He asked the man a questionJie
"personal”.. s2 s"indirect object" sélse & 4 Jsada sathe man<
"direct object".. sl 42 Js2da 52 @ question <y
"The indirect object is often equivalent to a prepositional phrase with “to”
or “for

&8sl B (g ¢ AN Ay Jgadal) ahy ol J oL s Ladliila Al grdall of ST LG 83 Lia)
1oh 9 Y il oaa) g Alla B AU 4 Jgrdal) day Al 8 gYlgn J srdall
1 to —for..Jha gy sy Ja¥) 4y Jgadall S8

: He gave a book to media
> He gave me a book J<a¥lus 4lea) )
gave..Jxdll a3 oA (a book) (A 43 Jgaiall zemal( to )= (me) LS8 Ladie (Sl
~Jol Jsria sa (to me ) i<

: He bought a gift for his sondJia
> He bought his son a gift J<¥l & 4lea])
2y 53 98 (a gift) A 4 J sriallasal(for) (his son) LA Levie ¢Sl



bought..Jadl ,
J9 43 dsada s (for his son ) 13ik<

~md ) 5 pualaalim~

? What is a phrase
A phrase is defined as two or more words that function together as a group

fo_lallala
4o ganas lea Jand () g S o) (yial€ia ¢y oS Ll

.e.g.The old man walked down the street
oLl e A8l alaal) B o jlal) 038 s <The old mane el

:There are a number of phrase types in English including
1-Noun phrases
2-Verb phrase
3- Adjective phrases
4-Adverbial phrases
5- Prepositional phrases

e 4y Jalady) 4all) 8 <l jlad) £ 681 (e d3e Slia
Jsaulglen 4ud) 4zacd) o Ll
JAslad Alaa 4d) Agladl) o jleal)2-
Jha s Adan 4l o) Afiniglan Apdi ) Afiadll o Lad)3-
-JOba e el Ayl Al Al ) 4@ ) o jlali4-
)osoaa gl Adax 4l ) Jgsaally Jlad) 3 Leb-



Each phrase has a head and one or more modifiers*
Jiraia JS) g aalg Jira gas) gud lgd o e Js*

)il aa — Ay i Cildia )) @Al Wlaa:modifiersad sala**

:(The Noun Phrase (NP
Aand) o jlally sl

:A noun phrase (often abbreviated to NP) is a convenient term for any of the
following
1. A Noun
e.g. Ahmed, students
2. A Nominal Group
e.g. a blue pen, the students

AL 5Ly (g sl) (15801 s NP") %ol g Lo T8 5 (Aamla ol
LAS) T Ad) sﬂﬂwgd«a&@hﬁd\ \JJSL"Q\UJF NP _baiay)
ém\wé\!uum@hmﬁ‘g
5 cdﬂ\:emﬂ.

__‘,sﬁ}.d\ ¢ @yl ;.‘3:4,)4“\ AS gada2-

.Each nominal group has a head and one or more modifiers*
WJirala JS) glanlg J3a gas g ol gl dsand 4 gana JS*

.Modifiers add to, change or limit the meaning of the head in a phrase. The
head is the word that determines the type of the phrase
SV TRV [EPREN P N I
0 el lina il
okl Al pllina e aali2.
Lokl £ g aaad Al AalSl) g I

For example, the word “pen” is a noun that can refer to any kind of pens.
When we modify it as in the previous example “a bluepen”, we limit the
noun so that it
.can only refer to a specific kind of pens

PPN ATREL
T aludYUiall A LaS Lghianty o g Latic (K15 ¢ aDBY) cpa £ 63 (o A jady 8
OB (ha Cma £ 5 ) BB pady O ¢Sy Guay o) Lidda (i Ua
L) Baad e Ul () ciadll 3131 g (blue ) Jxalld
(a blue)..sd Jaall g colaall o) aleaall (i W s8(pen)



:Some other examples
Ahmed’s desk
a book store
the student

. . fs ALY Gy
gl muaidoran) s paddl) 138 5 gaddd sadaa A 4 glalilia(Ahmed'’s desk)
SEVEN

LSl Jaaruaie sl g8 gee o8 ddaa ga Jall Un(a book store)
Ul st ) iy i) 31 el A g da sla cullb Ua(the student)
3. A Pronoun
A pronoun is a type of “pro-forms” which are defined as forms used instead
of other forms. Instead of using the nominal group “the old man” we can
use the
S"pronoun “he

sl 3-
" A sall Zilalll ) sasall A" £ g A el
LG AY) zilaiilie Yoy dasiiioeal) g aladl) a"ousall™ 4l sal) g dadl)
el aladiad LiCa" §saadl Jal) " the old man- 4xawt) 45 gasall aladiud e Yau
lluﬁu he'

:Pronouns include
:a. Personal Pronouns
.Subject Pronouns: |, you, he, she, it, we, they
.Object Pronouns: me, you, her, him, it, us, them
.Possessive Pronouns: mine, yours, hers, his, its, ours, theirs

: Alaal) Jadd
rduaddl) jiladal) o
> 1, you, he, she, it, we, theyJs\&ll sila
> me, you, her, him, it, us, them4: Jsaial) jilaa
s (W o) dits < ddhis « Whers ¢« dlyours ¢ (4> mine 4:Slall A yilaa
.attheirs < Wours «) Sl

b. Reflexive Pronouns: myself, yourself, himself, itself...etc
himself « dodizg) dudiyourself « udiy o) (dis myself Aplad) iladl) -
&) LBl ) Audly o) Lpdiiitself ¢ Awdiy g Ads

) .c. Indefinite Pronouns: everyone, someone, something
Usdsomething « L yaidsomeone « ialg JS: everyonessiaa il jilakl) -z



4. A Pronominal Group
e.g.we all
everyone in our class

In a pronominal group, a pronoun is the head. The pronouns “we” and
“everyone” in the previous examples are the heads of the pronominal
groups

ety Baaly e RS ganad.
lasaaiairwe all Jlia

..Ulad:ds aslleveryone in our class

okl Gl N ga paall ¢ paally (3laial) (5 et de gara A
de gana B gLl ab ALl ALY A" aaal) "everyone- "o " we - iladll
womdally ABle g4 pac
LJaal) g - all (i) R g ssaaliwe we all
.Jaadl a - in our class w1 s8 9 ssaalleveryone«everyone in our class
:Exercise

JIdentify the type of the underlined NP
a. noun b. nominal group ¢. pronoun d. pronominal group

1. The children went to bed late
b.nominal group

nominal group s <l sall 131<delela Al 45 gana ¢ (il g8 ¢ GuialS e 8 e
JApau) 4S gana

2. | made this cake myself
C. pronoun

pronoun & o sall 131< pulSal) yrada gac " ") o 352 ¢ paa) sgalS (o o L

3. Ahmed owns an expensive car
b. nominal group

13 "expensive" <s: "an" Led (Mire s g5 (il 2" car” ¢ clals ¥ oo o e
Aau) 4s gana nominal group s <l sl

4. Khaled bought a book
a. noun



ol NOUN 52 ) sl 3I<an) g and ¢ saal g AalS (e 0 b

5. The book is his
C. pronoun

Ll ,glid « 4Slall disa j2ada 51 Possessive Pronouns sia « saalg 4alS ¢ e
. pronoun s ol sall 1di<la Gadudd dth Glisili)

6. Someone in our office forgot to lock the door
d. pronominal group

5""our office 4=IA jliall s ¢ e 2 5 ""Someone s ke Jsf ¢ (e Ll Lia
""Someone in our lx « i) haghiall area o U Jiigud) (K1 ¢ Lyl e oa
office ..
il ga 5 aaliSomeone
. saadilaia e pronominal group s <l sall 131, <J3all sain our office
:Nouns

:Nouns can be divided to
1. :Proper Nouns
e.g. Ahmed, Al-Ahsa
.A proper noun is the name of someone or something that is usually
imagined to be unique

2. :Common Nouns
e.g. friend, desk, bird, air
A common noun is a name given either to an example of a class or to the
class as a whole

:Friend” refers to one example of a class in the following sentence"
e.g. 1. Ahmed is a good friend

:Friend” refers to the class as a whole in the following sentence"
e.g. 2. A friend is somebody we like and know well

Friend” in example 2 is called a generic noun"

e ) andil plan)
) ralad) anil) dagaal) slavdi-
wJeaa g) 4S5 e w8 S O Bale 5l gl o el an) sh)alall) puaial) Al
Ll o Jaaa (adld A Wild by daal sl g Ladic <laa)
L) ou e e Aililly B jhdy slual) gl Litis<slual)
)..a3e Y (Aasauall sland) A PR



14 yidialle Law)2-
LJSS 4ddl) ) gleid o Yliala) hara ) 54 jidiall pus)
:Jla
L)y padd ) ‘éi ¢ daal 5 A JgyLiall ‘_,A " Friend"4<l$1-
" Al Gy atgn ) 13 B (JSS Adll) o 3 gad AN JUall 3 " Friend" dals2-

Friend" ..

".als aul " a generic noun — S4 SENGEW A" Friend” dals*
Exercise

:Identify whether the underlined noun is
(a. a common noun (example of a class
b. a common noun (generic) ¢. a proper noun

1. Mohammed gave me a pen
(a. a common noun (example of a class
Jil<ald Alasi A& o gf))Addl) (e 3334 () ) 4ddl) o (e e sl sapen <
Ad8l) (e 3334 awd (2 common noun (example of a class s2 <) g2l

2. A pen is an instrument used for writing
(b. acommon noun (generic
) (a common noun (generic & <l sall 131<Jssgadl) N Jla Jara anid sapen <
.ol

3. Khaled’s car is new
(a. a common noun (example of a class
A 9 Adima ol Uada (o) ¢((Adl) (e 3334 (5) ) Addll  Jallie Jara ad sacar <
4ddllia 3354 asl 3 common noun (example of a class s <l sadl 131 B Lo

4. Khaled has a new car
C. a proper noun
ail) asa aud @ proper noun s <l salii<emma gadd e 3 gy AiKhaled <

)l

5. Fruit is good for you
(b. acommon noun (generic
131) <plaan AS) gdl) Uilad Jy AgSWL £ g3 aaad al) JSS 4ddl) IWUa e and saFruit <
.2 axl (@ common noun (generic s < sl



.Common nouns are usually found in nominal groups to help the speaker
say which particular example of a class he has in mind
dimal) 4idl Lala J8 (A Sdalal) o Lol dran) Gl ganasd 2 gi SaugsJM.d\ s Lol

Ml..ubu‘)hag.m

UL
The students were waiting for the teacher

). sidia aual)) B gl udly g ((4pams) 45 3a24)) (2 The students
)).Jira ) sl by g (s 314)) (- The
LIS &) ey Lglaaes o3 (3 ((Students-4als o)) ) « The 314¥) o clie. Students
)).. eall)) ciapald (s 22N ((The-313Y)

138 9 4allal) (pa A gana Lidda Jy Ol A 4llal) aran oo Eidali ol JU) 138 B
4S ganal saiaa g 4djas Ciauald Students s The iy adll 81a) LAY o) ey dhaa
).l sidia auad )) B gll ully g ((4pams) 48 342 )) (A~ the teacher
))..J3a ) B gl (udly g ((<issnib)a)) A The
31y LAY () g Lglaaasi ((Pla.a ((teacher-‘\.ds.\\ ¢! « The 81 = «lie. teacher
)).. plaall ((canuald () J)((The-

Of dan daas 1da g nij‘gh.guanda u.\.ah.d\@.uus:umeldud\ 13 (bl A
A3l g alaal 0033 g 48 s Ciasald teacher 1o The ciy il 313 Wiy

:@&Y&S\
The teacher’s desk is new

))J2na)) Uil g ((Liea puad)) bl (pudiy ((4aukgs 5a24)) (- The teacher’s
)) Jina )) < gl (uily g)) ey s 3147)) 8- The
LA ¢ day Lglaaes ((alu ((teacher’ s-4alS ¢l ! « The 8131 = cdie. teacher’s
)) aleall ((capald ((iaah J) ((The- 312!
LAzanl) A ganall Ll ) a- desk
, .Jaallia- The teacher’s
U gl 1aid ¢ alealls g Al glal) () A g 4dglal) 4d paas e Uselu JUa) 132
. alxall
LA 2 pan) aaad 8 UasLadzcdy i) 31aj*

Proper nouns will not normally be modified this way. In other words,
modification differs between a common noun and a proper noun

ARy plal) 03¢ Leluaad (Say Y Bale)alad) (Aasaall sland)
)..aladl) Zaial) ant) g & bl and) Cp calidabandl) ¢ 5 AT S by



Proper and common nouns((as well as pronouns))can refer to something:
a.animate
b.inanimate
D) ol 3B ((Alaall IS g)) AS idiall slad) gl (alndl) Aasaialisla)
)48 palall-g) Y1) (& g el
)cddbandl (A& s 5

a. Animate
Animate nouns refer to a person or animal
)iz 9N (ASadall -)
WOles gl padd ) padieS atalislawd)
:Jla

Ahmed, friend, bird

)..u@ds) sealAhmed <

)..oadd) (gaafriend <

).l (Lsiesbird <

b. Inanimate
Inanimate nouns refer to a place, thing or an idea
rabaadl-
S8 gl o pd gl lSa ) padiadalad) elend)
:Jla
Al-Ahsa, desk, air, freedom
)..0\%e) slwaIAl-Ahsa <
)8 (M sadesk <
)..8s) £ ghair <
)..o S8) 4 ;afreedom <

:Count vs. Mass Nouns
103 gara yaad) A 03 ganallislans!

..(Nouns can either be countable (count nouns) or uncountable (mass
nouns
)03 gnall slacd) (&2 g3 ganad ¢S5 8 plal-
"), ALSH"0 gana i) plac) (S A gira il g 18 o

Count nouns such as “friend” and “man” can be preceded by “one” and
may have a plural form such as “friends” and “men” which can be
preceded by a number higher than one
" ) g "one-dals J@ (e G (s "man-g" (i "friend-diacod garal) gl

o OSar s 5" Ja "men- " sBaa): "friends-die ¢ g dda Lglissi Of (Sa s
La) gl paS) fase Lghud



el iy
o AUIS (AU 0 garall plaws)

))..244)) 21 g3l I3I<aal g a1
)).ga2)) Al e Asi<dla2-

man ..AalS! aaall 52 men s « friend 4als! el sa friends 13)

:Jlia
A“two friends” and “ten men”
.OBssa-two friends
~Jay 3 <e-ten men

wwwww

gaall - 3 il
L&A 9 agual two 2 B

(AN A g 0 ganal) slawdl cilathuaal) (s il ¥ aa g3 A ad) ARl L
W2 = e - 304

.Mass nouns such as “bread” and “milk” cannot be preceded by “one” and
‘ do not have a plural form
OB Cpa (gl e Y™ culs "milk- 9" 23 "bread-Jiac)e giall yil) glew) ALY
o> dapadlad ¥ Lyl g ¢ 22 9 "one-dals

.Some nouns can be used as both count and mass nouns according to the
speaker’s meaning
Wy o) g da lo") ALS™3 gana S ol 5 3 gra (S Lgaladin) (Say slacl) Gany
Laatialliinal

:Jla
1. (Light travels faster than sound. (mass noun
L0390 & Light 4als cisly Ua
2. (There are two lights by his desk. (count noun
LAlaal) sda B 4y Jgrda cisla [ights 4alS g ¢ 03 gra lights dalSisly Lia

:Collective Nouns
)@#\ (am\) QQLA@S\}LAMY\

A collective noun is a singular word used to refer to a group
LAS gaaaal) 3 LA edﬁuﬁ 53 yia PN s¢=claall ‘MAY\

:Jlia
family, team, public
kil e 2 safamily <



AN (e 4 gaxateam <
A (1 As gaaa Lasipublic <

A collective noun can be followed by a singular verb (e.g. is) or a plural
verb (e.g. are). It may be associated with a singular possessive form (its), or
a plural one
.(their)

S (eaDlady ghiis) JUal) Jasan Ao (A8ablaia® o (Sielaal) au)
:are)..JialNaw
(their)..zasll 4SLal) divana gl (its) 2iallguSlal) dipana &lld 3hI 5y 2B g

UYL
1. Our team is the best
Our team are the best

Qe LaddSare < 0 e 5l = 0 04 Ll Liay Gibad) JUiall (& Alaad)-
: AU
2. Ahmed’s family moved to its new home
Ahmed’s family moved to their new home

Qaa Laadstheir <= 0 4 gcits = 0y LS LiSadld) JUial) & 4laal)-

) ‘ oS gl 4B galar
Gandldipay s AV 9 2 dall diguay Lablaa) (oS5 oy 159 (pilad STl L J g8y
).. e 9 2 ke Laf) ddpeall 2355 () g canad) (il

Note: It is reasonable to be consistent when using collective nouns as
either singular or plural. In American English, they are frequently singular,

while they are
.more frequently plural in British English
4 Ma*
daay i 2 jiall dasay La) 483 gia (4S5 O Apelaadielan] aladin) dic ] ginal) Ca
L]l

W al) e oS5 Clal) Cra S AES a4 ulady) daliLé.
Aoty udles Salaiy) Aadllds aad) Aduaud oS5 la¥) iS) Lgdl Ca gé-
Exercise

:Decide whether the following NPs can be followed by
a. a singular verb b. a plural verb c. both are possible

1. Ahmed’s young brother



a. a singular verb
: Ahmed’s young brother isJ s ¢ (Saall (10
: Ahmed’s young brother are Jsii ¢)) LiiSay S
(2 @l oad) 131<aan am) (usl 9 3584 and (03] 53 (Ahmed’s young brother-c¥
ki (Ahmed’s young brother) s 2,4 Jad 43L&l Sassingular verb)

2. his family
c. both are possible
: his family isJsii &) (Saall (1
: his family are Jsii o) Wisay o
3 ke Jad 48La) (e (both are possible) <l sal) 1ii<aasan) (4ilile (his family-o¥
(his family) ..AalS Ao aan Jd o

3. juice
a. a singular verb
: juice isdsii O (Saal) (e
: juice are Js&i ¢ Uisay ¥
(a singular < sad) 131< gira ad (pud ¢" ALS™ 3 gdra & andl (unas (juice-Y
D88 (juice) dals o 3 8a Jad d8La) cSawverh)

4. the company
c. both are possible
: the company isJsai ¢ (Saal) (e
: the company are Js&i &) UiSay g
Jad d8La) (<4 (both are possible) ) sadl 131<aaran) (45,40 (the company-c¥
(the company) ..4als o aea Jad 53 44e

5. men
b. a plural verb
: men ared sii &) (Saal)
: men isdsdi O)) LiSay ¥ ol
LS o aan J2b 48l ¢S4y (a plural verb) ol sad) 13l<aan disa (S (men-c¥
W anl Gl g ped dda A 3 jdaled Ciudai ) LiiSay Y g JaSd(men)

~~ ) 5 alaall

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a



head and one or more modifiers

LARL 3 palaall A WL S Al c¥iall e Gt b palaallada .
Ll led) e UWiaad Laaie AU S axall -
L g ST ) sl g Jina gaaly Ml e 6 a3 5 e S o U S

:Modifiers can be divided into two groups
1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head

i S a2 () pdh sl
Lol g AU AN 4 >43Lal e aall- Pre-modifiers
ool Ay AU A > Adad) e a2 Post- modifiers
.. ( Take a look at the following noun phrases ( NPs

s sinally A g 3 gsl) cilay A Jgaad) (e (glaa o gasliia ¥ Y) da ) 1 A
.. Lads|

A (NPs ) dpac) il jlad) o 3 5 Ml

oY) Qi B
a good friend

friend.sa (i Y-
48 2 friend awdl L Jira sla 431 51 Pre-modifiers s\asa good st Jixall -
friend ..44l8 | sl good s a 13-
2 " B " friend-oul Y Gleagl ¢ Lalilaed s s s g friend o Lal<i-
"4 " agood- 4l a4 ALl

1A Jlialld
my school friends

friends s Gl M-
43728 friend awdld L8 Jua sla 4360 Pre-modifiers s> s my school s Jaal) s

friends..4alS | st3= school s my 13-
S my (pilaadilid) Laais uSS 5 esBaal gl ) et gl gads a8 friends 4als-
) b ya) Ao giallia agil Lyl g Ul ABaal agdl ) iy & yEléschool
school s my ¢pBlal ilaalads A (e Ald) s " friends™ oul U Ll 13).



Sl SUal) ‘;A
the headmaster of the school

wiy Jira g (al8 Janalial Ua.
headmaster ..4«l<! Jaxa cisla of the school e_badl-
the 319Ul i Ua 4 j2a a) Jaa Ao oLy headmaster (i Jixa sa the 13-
.. 43 sna dl2a headmaster s o L) Laic
e headmaster ) 2! cijas headmaster (il e Ciy 258130 2= The
9 Gaaadial) cpa MS 48y 521 g e headmaster J: headmasters) 2 JS ()
LBl Ga e 3 headmaster ) O )5Sy aaioall
. sl s (headmaster) U Jea Lyl of the school saxdl Jarall-
A A yidd jaa s the headmaster of ST JSy Uaas 13-

gl Jial)
the headmaster’s desk

, desk .. (i -
LOmld claa lela g headmaster’s 9 the L (plizall o
oad Uigh: the headmaster’s Jsii Laxie (<1 ddgla i (M) iy 38 desk ol Y-
LAl e 3 gt Al AdlaiaY)aas
Cavald « headmaster -1 &l Ll & 5 0335k sgian Al gla (i LA &ias cad T3
) .. el & sl((the headmaster’s desk- ,
(desk)..aedlgallaiay) jas lo Uaslu JUall 134 8 Jaall 13

s oaaldd) Sl gé
several students

students .. 58 4xau) o jlad) 03a B (Ll JlI-
Cra Sl ¥ g ¢ Authal) JS G 3 guallall ¢ studentsasd e Usslu several Jaall -
(-\6-.\4 oars Ju ¢ dalhal)
WOt 5 pdd Jlaka g) AnaSUlaef JUial) 132 & Janal) 134 13-

:u.udl.ud\ d\:\.ﬁﬂ gé
we all

padally ABlaial) (5 e Cle ganad C¥Ira aad o) Ll (Saad) (ha-
: we alldie-

Lo A= we <
Lt Jira Ub sla g Jaral) ga-all <

eopaally dlaialy pads 4 gana Apand 130 -

raabad) JUal) B
everyone in our class



.osal) ga- everyone <
L Jira Csla g0 e A-in our class <
gy (3laially e de gana L) dgani 138 -
- When the head is a noun, modifiers usually precede it
- Phrase like “of the school” follow it
- When the head is a pronoun, modifiers normally follow it

head .. s slgiandbale "y anal) " 8) am (Ll "G sSikaris*

Lea'lé (of the school - in our class) Jia )= e (¥ iad) 0585 Lasie (s ¥
J)oda ofd Meyana" s 13 el e " o @ (Gal)) s A andllgian Y anals
"head" ..A\>:EPhrases

head .1 ary Al glgaibale "y anal)"8) juaa (ol 1" 983 Ladis g*
rABludlgtiad) 8 U jS3 Las
JUiall 3aliils g4 9 someone in our school (A5 Jlia J& g Jadli ) gisal) Ui
oG LS 5 adaad) Al S B ¢l severyone in our class

N aeaaldl "head"sla LA iadall g pacaliany AU Lgad e anal)" ) Jaadl we all

i " ;

:Pre-modifiers in the previous examples include the following main classes

of words

1. Adjectives
e.g.>> good

2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

ALl Clalsll A JULAY Jadd ASilad) ALiaY) & 4l canall*
Ll 4] ) glaali 4y pranal) il ganall 5 dsam! il Ll galuad) Jgaadlall ) giad 130 13
bl gaad) 8 A5 LA 3 A1) ALl e anall La guad ) B8NS (e aas

): uuus\ ) quY\ 4.dl)q.
LAalal) aaall e il o goodd.uc“;l.au\ Jas clia"

)i Lana) ) ALl Addli2.
LAaldl) e asal) (e u.ua.\"cgp\ slam Jaas olawl"
my school friendsdlea 2 school 4als; Jis
sl s8 5 amd L) friends s am!- school




friends o Y J3= school awt) Ligh-

):culadaal) ) ABIEY 45dh3.
BB 2y Jualilly claasal) Gi8LLu e a, the, my Jie
:Exercise
:In the following phrases, decide which of the underlined words is
a. the head
b. a post- modifiers
c. a pre-modifiers

1. a big store
a. the head

o) sa- store
L1l A-a
LAda - big
big ..sa e 5 Cplaay (i store sl -
a. the head s& JLEayid-

2. the store manager
c. a pre-modifiers

manager ..s8 (ul Jii-
manager of ¢& &aaii WY manager 2.9 uiol) (A agia saal g cilalS ¥ U Ll
the store ..
manager .. 48 Jis 52 s manager 4ls Ji=- store
.ouly Lay) 5 sl manager s aul- store
c. a pre-modifiers sa JLIAY) 13 ¢ an¥) JB b il g AT and Jis anl-

3. the leader of the group
b. a post- modifiers

ol ) s Ll L BadS g (of the group) i L ghadiall.
LAY e Eaati Ua WY ¢ Gul 1) sA- the leader
13) ¢( 2 the leader 4l 23 51 ) o2y Al g the leader J=- of the group
(the leader) ..o+l Y s (Al g2 Juraga
the leader of the Js&i Lasic o<1 5 119)3Le ilBlia G 25 ¥ the leader Jsii Leiz-
) .3 2il8) 48 jradallaial e 235 Ugdgroup
(the leader of the group - 43158 5 (e £ pdd 28 paat e Uselu Jaral) Ua 13
). Adra A4S gana Aild
b. a post- modifiers s2 JLEaY) ¢ sadara s2- of the group

4. the group leader



c. a pre-modifiers

.l sa- leader
b Janaga 131l 11 38 pla Lyl g Janall sa- the
L&) Jua sa- group
c. a pre-modifiers s& JLaY)-

5. someone in my office
a. the head

1S G 0 IS5 s JUial 138 b
) .8 (2 La 2ai someone ( o plsii-

< 3 (in my office ) Ly 8 by &5 By jpads sa g (i) s2- Someone

w2y Jana
pliva  (Band plac) @l Jilia g Apiny ¥ aey o jiladal) Sale 4df L83 LS 4

LAald eV aray lal)
a. the headsa _L5ay) 13-
Determiners

:Determiners are word which specify the range of reference of a noun by
making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):lazaall Determiners (4 () Cnaadly 2 gaia V)

¢ Clasaal) Al
:‘U:é &JHG cemﬁ:e‘)—d\ (& J;AI\SLASS o ol dﬁ\:ﬁ;ﬁuﬂ

Wi ac) ey a8 [NEE AR
QUS (o) (ul (3haa CiTah JUial) 13glaas LS (lisl)) J i Ladie Uigh < the book Jia
LUK 138 3 gy e o ) galay g 4 galafisatall g aalical) Of dua o(usl) S

LG e a) Jaag )i s ) LiDas E2-
( He bought a 44Ul alead) b Ugh (lisy) 1) judy 8 (LLS) 4als 1Y) <: @ book Jia
LSUS g ) LUS( a book- 4alS i $8hook)

JLa ke o) AuaS ) Tpadie and) Jaag o8 ke glAaS ) T jadia3-
: many books Jis
many ..s4 Ua Jaaall.

books .5 LA au)-



LS Al AaS (e 5 4S8 AaaT b Lae L 38 many 23wl
WS (e Bl (S g ) (e BTl
Determiners can be either identifiers or quantifiers

1. identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include

:a. Articles
(al an (indefinite articles
(the (definite articles

:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their

2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

| o clid Aulaaaa) andic (Y11 ¢ AT Grand  UaAa Lol of Loal Likag
M \9 b W u U.A«)A - b - 4
) . il ol gaf) cild pallie &5 A gY) 4 ganallq-
LAaSl) gadad o digailil) ds ganall2-

LAl JSdn (b aall) e cad L) cilid ) AL oY) 4e ganall®
): iy i) i gal) cild -
) Aslgs ¥ La ) gl )i —ada (A8 5alancial) sdualy o) and) (S 130 La U i
). 338
s 9 Saa ga Ja oS3 sMLen) o sh Gasatiall dualy 13le ADIA e G ade 13-
ddaa



rJadiild Jaal)
:c) 51 Articles |
Ledas 9 (Aueuadl Aall) A 5iillSlan) Judy o U0} cacad Lab @) gl) (¥ af an;

3131 g 9 1) La ¢y gl 4SBT 9 3 e ) Gy and) 1aday Lagd) 4y Jalad¥idatily
JSd by ¢ AL Bl AlgS JSE Latny 281 1) and) G sd s Y agdY Al (S Gy o
iy 2 5)al*the
) ..&lassall(Determiners — ) i a5 Articles ale JSdy oS! g

1o liNlelawl- Demonstratives <
LAlEaaTal) s La agh B Uaslad 44dl) o3a
Al<a ) o L) g Ade Cuaaty oM anty) a8 ga daaad & Gisaiall aelod 448l oda 13
. bually
Al) i El WSl Gua Craand) asd e Ua Wisela ¢; This screen Jia
WL sl gl o allae il ) o LN plamd il o)) Liay) (Saal) (ha-
)y ol AU £ Al 138 GAS gliia pLudN) ciaag b o LEY) slan alidiad W (e
w

4slal) daua JISA - Possessive Forms of Personal pronouns =
Auadlddl yilaall
LASlall pilada g pilaall 038 G (AR ) Aalay ol
> mine, yours, hers, his, its, ours, theirs4sSlal jilaa dia.
> my, your, his, her, its, our, theirixaidl) 45kl jilad diva-
13) Ll Gua) c¥ara (modifiers sl oubal o gl duadlil) jiladall 4.8ld) diya
LALAY) (e 385 Ul an) o lalid)

: My book Jsii Laiad

) S) (A AT A g e QLIS Jy (QUS (o] Uia ai Y
..JaaMy - > modifier

..&=lbook - > noun

4gasl) 93252
WolaRal g AsaStiadaa . gladaaan) LS o) La U pads.

s Jadid 41."‘53’ 433;’5:‘
ey -
Lol s o sle A g)iAslial)) Asulud) dlas )
: one. Two, three... Jis
4.“133 cdm\ chLg

WG QA 8 o e A g rAui ) dlas Y
: first, second, third...Js
L LY



Glalse
: much, many, each, every, a few, little, all, several, plenty Jis
Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstrative sa ol sadl 131 ¢ ¢sna exercise A < L3l This dalsia

2. Their friend is here
C. possessive

agiada (119 e (Ba3a ) L g o6 5 dalsl) pda Likaef B8UA g ¢ yraua Their 4als
C. possessive st il galld ¢ ol el 4Sledina & 13

3.The visitor came early
a. article

a. articles¢) sad) 131 « Gy 5 3130 aThe

4. Many people watch the show every week
d. quantifier

53wj$ SN & salas Gudl) ulill (e Adima 43S (e o S8 Ltk Many 4als
LAl Badae A 1Y ¢ Le £3aS o 0 <8 Lithae | Many 4l 3
d. quantifier s <l salé

5. These sentences are interesting
b. demonstrative



b. demonstrative sgl sl 13 ¢ Gaxa and ) o L3 AThese

Person, Number and Gender

:Person

Nouns can be

.(personal (humans

.(or non-personal (animals and inanimate objects

Note:Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

rouiadl £ 63 g ey g "LalAl" 3 il e ga g cilides g ga ) oY) Sl

"R 3 i)
plan¥) (0585 liSaall (e
Sldlaa g @l paddiadd e

1ad3 gala

o) Ao JaBd 3 gat LY cAnal) cliilSIl o<5 JaBlguadl i) plandl*
10988 O Lalgaadi i) elaadi

Ll gl ) e Lasie>Aia LIS

clabaal) ) judd Ladie>dia palliliisil

We can also use the term “person” in a different way

:Traditionally, personal pronouns differentiate between
- (the person speaking (first person
- (the person spoken to (second person
- (and the people or things spoken about (third person

1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they



4AlA 48 5k (Person) glluas aladia) Layf Lice
). Amaddll jiladal) (B plluaallldy ¢ paddioy G sadl) Sals

1O A Apadldd) jilal)

) Js¥) ikl Sd o g daaadal) (adil)-
) ) il M) g Al GATAY el
) LG Gl S A g (agds AT Lgafiadal) pLudy) g (il

-], Wedaddl g¥) il ilad*
: you Jadd (AU Gl jilact
: he, she, it, they Jedd U i jhl) jilac*
:Number

.Singular (number) or plural (number) affects the form of almost all count
nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(1, you, he, she, it (singular
(We, you, they (plural

:Demonstratives
(this, that (singular
(these, those (plural

):alac ) sa 4Anl) Sl i) SUlle g gall

r09S5 S8 as Y

Loda dae

). S e 228) 2er 26

~03 g3rall slau¥) JI abieal JS&N o i Lliaan gf 3 ke CUlS £ g A2y 22



)..o L) slad- jilaall
i (0L e Lami- slaalleoa ganall slacd) )t JAY) calaet) e Talaied 13)

AU NICEY) oda e AliaY) (amy AALIL*

rJia c0d garallelactylq-

.astudents > <2 isstudent >

.&samen > <2 dsman >

ARG MaeYigle Fh oagarall slacd) 1) calae S o @ 0 slan¥) of Badlilia

LAdasingular kadd (585 ()alisli)oa gaea ) slacYIlal

.34 water, rice >Jia

ey JAU oa gana pad) elac) 130 ¢ il al Lgdl o gdna il elend) o) JaadUilia
Jelsd e s Ay g aka gl

:Jia ¢ ilaal)2-

a,44], you, he, she, it >

~=aWe, you, they >

Lol )l Lag afal) L) iy Le G ) polated Gl aS5all s

LglSd R ey Lgale A yilaal) 1) calae S Ta 35 jiladal) o aad Lia

rJia o LAY glaw!3-

3 _iathis, that >

rathese, those >

Ny Lgale i o LaWieland 131 calae S ot 80 o JLEN) slawd o Liay) Jaadl Ui
1 ESS n ;‘&é

Whether the subject is 1st person, 2nd person or 3rd person; and whether it
is singular or plural can affect the form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject
(I walk home everyday. (1st person singular subject

(They walk home everyday. (3rd person singular subject

) ANl g ) Agde fgy 2B Jadl) S
JS& o i 8)3 e gl pan(lal S Ladie g)culliogilia o)) i hle Wl ¢y 48 Ladie



ol

:Jla
1- He walks home everyday

). Jal) S e gl (e ties shanlls i s2He <

: walks..gmad « walk Jadll e (s) chpain 1)
ok Gl i pal) 13 ¢ g ) uﬂ\&sdugﬁtuﬁd\y@ Jadll A (s) I
) woha =Jolé(ee

2- | walk home everyday

)oudsh i g | O Jadl) g8 e sy allin (Joteasda-d sl ikl <
walk ..J28) o (s) ciaai ¥ 13
52 9 3 kall Jolil) G al) Adle Aleldl Ciual ¥ 3 jdal) Joldl) J oY) il 8
(s) ..

3- They walk home everyday

(S (§) i ol Al b e s They Of o o sl ( Joli-pan-Cils i JbThey <
) .l 138 & asa They oY walk Jadll
walk ..Jadl) e (s) cisaiy 13
(s) ) sa 5 kall Jo LAY i glal) dadle Aleldl Ciuial Saanl) Jeldl) Eullil) cé k) A

GIAL Lar )l ) paddd) g aan ] quaay (S 138 5 Jadl) iy ol (Y9 (2 Culbiallaliadt
el e o) A
Ladl) e w—* V13 ¢ gld load g 43Kt g)a jianJold (Adlagaua (Y)) Ul B
WO e i WM caanaB g AdST g)a jdancullh Ci (4] graaua (Y1) I A
:Gender

:The 3rd person singular form of personal pronouns can be affected by
gender as follows
1. The masculine pronouns “he” refers to males
2. The feminine pronouns “she” refers to females
3. The neuter pronouns “it” refers to inanimate objects, or to a person or
animal not yet regarded as male or female
("?e.g.>> (“Who is it

)iomiall £ 5i) b Gl ¢ gua gall



ANl 61 g S uial) £ 5 Lgale 3% B dpadldd) jiladall 3 jial) ulll) o jhat) JSi

Sl jraal]-
Lo sSAllle 3 g He <Jia

Euigal) sranall2-
LEUYlle 3 gl She <Jia

Llaal) jaall3-
L As g It <Jia

)l
Opaaiadl o 39t 4y Jlaiyidatl) B 1t o) L. AT ol 83 s 13 alad Y Ol ges gladld
).omdalle i Ciag al G 8 M Al S

o Mol jradl) aadicliise o) jSiad) gaall ol (i) (IS 13 Ci el Y cuis )3,
d:u c‘ﬂf\gd&
1 “? Who is it” ..Js8 e Glile aai (3 jhy Lalia

Uiy 1< AN g 83 S 13 La alad Y SY g L) (3 phay dal aa gy 40) i el Lia
person .4 )

Alad addiad off Saal) (e g cAre o) redalleddiod Saladanimal J) ge gaidslal

. dwaaia cNlad K g dra Sdall g Cuigal)
The distinction between male and female may affect our choice of lexical
items (words or phrases) that could fill a “slot” in the structure of a clause

Man, headmaster, woman, actress

e.g.>>1. He is a good
Man and headmaster can fill the slot in example 1

e.g.>>2. She is a good
Woman and actress can fill the slot in example 2

) clalS" () jiall jualic™ dranaall 3 gl LEA) Jo figaad AN g SAN o AN
Alaad) s e Updliiila 9 All)e e
(words or phrases) .5 2 s A* lexical items
O i Al o _ladl g Aalsl) (St g Say o Bl 13 dBALLAL (S 1)) ALl ol b
LS o el adde 5% 88 3 13 L

- Al clalst) Lt
Jauman <
sheadmaster <
si_jalwoman <



«Liaagctress <

F Ja¥) JEall
He is a good

AR Any ) plac) (pe § WIBAN QU3 Slad o 355 1)) (f b 3l La aa g
9 0sSY e lagr Gla) G138 Y E1AN (e Bheadmaster sMan padiu 28
L Olmibia Slac! 13) g3 o agay jsaca(He)
s% Sia (He) o &Y o agai Wactress swoman addid o ashaiady o g
LSkl slan) o

:‘“,JL"\S\ Jlialy
She is a good

AR dny ) plac) (pa § A BAIKID Slad 0 35 1Y) (f B Bl La aa g
N S Ao oy lau) Q!’SA oy é\ﬂ\ AR Q,éactress Jwoman il 28
WOkl Glac) 13) ¢ &Y e 3 gy saia(She)
slat) Ao 3425 &ii'ga (She) oY £1,8Y Bheadmaster sMan aw! aladiulica ¥
) iriil= S3) Guiadl Gl o diialipla) ddlaial (e JI&S A g 453l
:Note 1
The suffix “-ess” is found in a number of words referring to women, but
there are other words referring to women that do not have this suffix
e.g.>>aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>>friend, neighbor, cousin, teacher, nurse

rul galalliany Ly Lal*
L oY) Adsalall-

 actress , empressdia cAalsl) JAT JELLE ) Ja o ( -ess) 48adUl
woebeadll) S AN GlalSl) (e d3e B aa g5 ASa3U) 038
i danadie g jS3all Lgd gii adly La oy ghal yal LAlizaempress <<4al
il danadia LY JSdall Lgd shindly La alias Wlinegctress <<dals g

¢ Jia cABaDU 0MA laiy g elaadl) ) padd Cilals U o g
LA C4aequnt <
Lodl aly i cdniece <
LARionun <

ragilil) ald galall



Ay ) ARl (puSlaa 13 g clae YY) 5 ) sSALde 3 gt A Jalady) A3l A plawd) alins
1dia el uialle gi daad o Ule G 4df Gua
LAba ¢ Gefriend <
.o laneighbor <
) AR - dae) Al ¢ (JB = ae) A ¢ (A — dae) ol ((JB = a8) Selcousin <
.Aalra ¢ alrateacher <
WA e ¢ ga panurse <
LG g eSAl e 3 ga Ay Sudady) 4adl) b claada S

s inally U iy 3 g 5liles A ) gaall o cslaa o5l 03 (Y 4yl 21,
.. Liads)

= [ahal) sada J oY) ) b ad) g
= Wegaall e Jg¥) ikl B ol
3 hal) = you el pada N Gkl 2 Bl gt
gaall = you ganll jpada AU ikl 3 2l
= heaiall Sial) jaada CJEN Gl A ad) g
= shea_dalliisall jrads CuEN il 8 adl
= it dal) Llaall jpada CIUNE Jhall 8 aB) g
= theygeall) Mlaall-diisall- Siall) jpaa Gl i al) (B adil g
:Exercise

:Choose the appropriate pronoun

1. 1st person plural pronoun
a. he
b. we
c. they
d. you

WS bl BBy pad pada S
Lpdnfiid pax Gud he 5 (&a3) 98 o8 (o
"R A g ailllgda sall ) JEE 1Y) caan agazax you s they swe
Qb i h-aaayou <
b. we st <l gad) 130 g) i jh-zaswe <

2. 3rd person singular masculine pronoun
a. they
b. it
c. you
d. he



LEEN Gkl B ad) g 2 jha prada 3y
Lodaiuind u.nl;’dthS\ P adls adyou <
M) Vo g Al dda pall ) JEES 1Y (CIEN G jlal) (B agasan he it sthey
. ddn il 1) can 4dsl g U ) L“,A é\\g‘)ya.bthey <
ALY Ada gal) ) 85 1300 jha LS Liagl g Cullll) i phal) 8 2Bl g LaadS he < it
’ " "M‘ &J“'“Q’AJ
Lo 13fcalae Al g 3 e g GG Giplall 8 &) g pait <
d. he st il sadl 131 ¢ jS3a g8 9 3 jda 5 Gl G phalld a8l jiache <

3. 2nd person singular pronoun

a. you
b. |

c.we
d. she

e i phlld a8l g 3 jha jrad 3
a2 1) (g Gkl B daBl g yilaa we <
Lo 130 ¢ G Gl B a8l 5 padashe <
a. you sa il sadl 130 cada ga 5 AN Gakl) B a8l 5 edyou <

What is a clause?

A complete sentence needs at least one finite, independent clause. A
simplesentence is composed of only one finite clause, so that the

structure of a finite clause is identical with that of a simple sentence.
" jlall 5o 8ll" clause J) 23 s L

finite' —dnlaie | e aldto 9 6d2aa o )38 ) L;‘; Jay) L.;:‘ CU&] alolS alaa <
..(independent clause
alfiee g oddane sy o Y o s gind () Y alai€a 4 sVl 4zl d alead) ol
LManlaie) e aliiue 5 eddas o8 e ST e (o giad 286" ¢ saal g aplaic) e
gk 1) It shows time, person and number :sa "3334" finite Al as*

AL 58 aay Juadilly Gl ) 3 ki c(aaadl 5 3 8l 5 ()

That it can occur own its own as s "galicl " independent 4alS ixs*
o deaS Laa jiay Gaad o (S ) (& (61 ) @ sentence

He is a student who likes to study hard /J%s-

Meaalge e gl s 3 - one clause "4 >>He is a student



Gaand o Sy 43Y ¢ "aliise 5) 4plaic) e - independent” & S8 sl il
BRI
. "easlgo e sl o 8 - one clause " & >>who likes to study hard
¢ "aldcl - dependent” (& sl sy
.. aleall olgiil A1ai i 85 (e 5 (Who likes to study hard) sk of aedaios Y 43y

alen & o 4l alan S5 () (S Y 4l () aseiall 5 cinall AlaiSa ye aleadl (Y-
. (Aaalaic)

4 ye alen — adari alen ) 1did e JaA) )l L8l Ll )5 S8 LS Madasal) aleal)” *
((odina dles —

.. ka# 2l g finite clause e (s it adapal) alaall-

O sn Lo iy g o) alead) 0 dail 1 ¢ finjte J) ine Lo Ca oy of 2y 55 Ladine
.finite

finite clause = one simple sentence*
Here are some examples of one-clause sentences:
1. lhave just telephoned Mohammed.
2. Hewas my best friend.
3. Thisis his photograph.
4. At nine o’clock, weallgathered in the classroom.

5. He always does his work perfectly.

lhave just telephoned Mohammed /) Jbe-
"subject— Jelll" >>|
" verbal group - 4xd 4c saas " >>telephoned s have
[Om Dl g just 4alS

" helping verb - xclus J2é " >>hgve



" main verb - =l J28 " >>telephoned

(alon & 8l Ludly goaal 56 jlie Ugd - it is one clause and it is a sentence) -

Hewas my best friend/Y Jbs-
"subject— JeWl" >>He
"verb — J=&l" >>was
oales oa gl iy g eaal g e oo 13-
Thisis his photograph /¥ Jt«-
"subject— lxi" >>This
"verb — J=&ll" >>js
Loales oa G iy g eaal g jle o 13-
At nine o’clock, weallgathered in the classroom /¢JGs-
" subject— i " & 5" pronominal group— 43 esa 4c sexea " s >>we all
"verb — J=dl" >>gathered
oales oa gl iy g eaal g e oo 13-
He always does his work perfectly /oG-
"subject— JeWl" >>He
"verb — J=dI" >>does
Loalen o gl iy geaalgeslie & T3¢ Laa aaly Jed g aaly Jeld Lial

Each of these one-clause sentences has a subject and a predicate. The
predicate is what is said about the subject.

:L;s g#d@\a&&w}éds*
"ixiw 5l Jed" subject-

") 2l predicate s



. Jeldll e &oaty L g4 predicate -
He always does his work perfectly ;o= JUall & JLsS
"subject— JeWl" >>He

) 4l 2iue —predicate” s s222 Lo JS >> glways does his work perfectly-
Maxe Jadll Jads predicate J o) )" Laan) Jadll Jadii 5" He Jeldl ) die

At nine o’clock, weallgathered in the classroom gl )l Juall
" subject— 1w " >>we all
" we all 1w I i ) 44l) s —predicate>> s Jid) (e i e OS
predicate 4l ( 3> s (At nine o’clock) 13-
predicate Jl (= ¢ 3a Lay) s (gathered in the classroom) s
predicate JI (s ¢ j» Ladl 8 (gathered) J=d) s

If either of those two parts, subject or predicate, were missing, the
sentence would not be complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or
persons spoken to. The previous sentence can be expanded as follows:

You go study.
. AlaiSe muai () alealld 5 53is (predicate s subject) cal) sl S 1l
. (predicate s subject)d 2sa 5 (o Y 4LalS alas L)) 131 T3l

) Cﬁ AP ;\uhi)&c) Q}S-),iil-‘; d;umfw@m@;uﬁu\ Sl (s
..(unstated

Lyl LSy g alaadl 810 0 g0 4 s iy 431 gl gt ¥ 5 Jelall SN Y (i A
LIoals Jeldll Jaad aleall (expand— g 53)

FJE Jas e



..l dapa s alaall 238 >>Go study
V) o paladdly bl S5 >> 0 4 Jaall g il o5 S
Statement -

Question -Y
Imperative La) exi 3 >>Command -
Exclamation -¢

Jdaall g1 53 e & 53 58 Command sl Imperative 13-
which normally we don't states the subject in - L Jeldlly # szl 3ale Al 5)

o
..(that it means you -cuil elis; 43f) <<(assume -u=) yil) LiSa ¢Sl -
ool g 3 gealadl () aleivd 5 giie Jeldll QIS 13) ey
: K (expanded— Juaiilly alSiic ad3) ol WiSay Gl Jlial) b
You go study< J e

) Go study< Js&i add ¢ Gl Join ¥ i ealall 4 (K1 5 Jeldll 8 L >>You
..Set down ! Stand up

oY) A Jeldll SN Y oas Tal
The subject of a clause is a nounphrase. The predicate is a verbphrase.
Every finiteclause has the following basic structure:
NP (subject)+ VP (predicate)

The manbought a new car

o 0588 LS se"aran) alen 405" 4gaul o sl s clause ) 8 il 5 Jeldll-
- dratilly Al o jlead) 8L Wl 4Ll ol jalaall

o e et predicate JI JS 131 ("aglad ales 403" 4)ld 5 e 4 predicate 4! s

g

Uil 4l sacldl oty finite clause JSs -



NP (subject)+ VP (predicate)
Claiaadl o) Jeldll a5 NP-
il g Jelall ) diedl a5 VP-

The manbought a new car: Ul JUall & WS

o Agaul o jle (o) NP 58 Sl (uéiy 5 Jeldll 4 >> The man-

S VP s <l iy " The man" Jeldl J siws 9 >> bought a new car-
coAdlzd ol

s oleladin) A \p*
.. JSS "predicate— 4l 2wl e sl 8 aadty 26
."verbal group— 4alxdll Gle ganall" e Gaadll 8 aadtig 3 5

.. JS "predicate— 4l aiwall" (e haaiy slieadiul JU) 13 is

4l=dll 5 jLall The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.

More often, the VP consists of a group of words (verbalgroup) with a
finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ "agdadl) alaad) 4" aladll 5 jlall e Cile glaall (any 2L
..(what the verb phrase consists of ? - f4l=dll o jlall 4a S5 5 )
.. k# 2l g finite verb e s~ >> VP-
D e sy B VP -

verbal group - one finite verb Wl -



We all waited ;& JEall 8 Ls-
"s3aa - finite" s Laad 5 Jxdll 8 >>waited
-G8 2= finite (Fxe 9o Le pS1 J gl g
.finite verb— 3334 Jxd" e (5 5ia5 "verbal group - 4ulxdll e sanall" o

68 Ladie ()5 SY cailadl) 4 gaaall "the head— (el " sa 33340 Jadll Lia -
..J# (= head

 verbal group J) & 13/ -
.. finite verb Jl 4udi 9a head I
.. (clause ) & ) 43 finite verb 255 (s &Y 234 clause I guad 13-
.. finite clause L 0sSy Of Gy 4l alea < ) 13-

.. finite verb W 0S5 ol s finite clause <) 13-

The verb can be either:
1. Simple
A simpleverb consists of one word.
e.g. is, was, walked, sat, did
2. Complex

A complexverb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

dixg -Y Lo o) Teay) (& 28 Jadll
Loyl -
__c.l;\jé\.dso;o)\_}c:w\dﬂl\-

is, was, walked, sat, did /-



Cadanad) JladY e LIS o8 -

RYPON| [ |
(285 dxd e ST (5l) alad 4o sens (e oo 1 diad) Jaill-
have telephoned, were placed, were waiting, did not like, could see /Ji-
el a8 — da 8 Bl — el 2Ll 4gledl) Cile panall 02a 8 Ligh-
have telephoned -
2clus J2é >>have
bl J=é >>telephoned

&' (full verb) s& 5 AT awas (main verb) b Jadll s ol Lie Uil -
. Jal&ll Jadll

were placed -
aclua Jad >>were
=l J=8 >>placed
were waiting-
aelua Jad >>were
bl J=8 >>waiting
did not like-
2l J28 >>did
bl J=8 >>like
4lad e sanal S e J2d 4 >> did not like-
could see-
aclua Jad >>could

bl Jad >>see



s2dah il A 023l Jx8YIFinite vs. Non-finite ((Verbs)):
Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finiteverb.
Heis here. Theyare here. (person and number)
He is here today. He was here yesterday. (tense)
1033l Jlady) cay jas
ol g ol g el W gl el
1055 3 Cumy (e 3 Aal (e adadl JadY) e i
Jadiisa - g s - al -
10558 A s e 2 Lali (e
Gl cayh- Gk Jl Gl
P OsSe 8 Cua e 202l als (e
gax - ke
L2aAl Jadll e Jlie 5o 4l Jaadl 8 (43 5S)) Jad) “e” Jaill*
1055 3 (be) Jadll o << apla daslea 55 gy 4
is, are, am, was, were
past participle<<been Lz
radadll Jadll e JUaS 45 1€l Jrd il (S alaadl ol (5 s
s 40 suSl Jad 220 13 ¢ Gl Gl a5 0 e Jeldll >> Heis here-
.. are 4500 Jad 2L 1) ¢ B Gl a5 aes Jeldl >> Theyare here-
. Odilaad) 8 Jeldll anall 55,80 U ye WY 3 (be) 455uS)) Jad o) Lia JasD o~ -

.. finite verb s¢d 23adl 5ol e Tolaie) Jadll s 13-

. is geaal 435S0 Jad 5 jualall ey 8 4leadl s3>> He s here today-



.was gl 45l Jad 5 oalall e 2 4laall 238 >>He was here yesterday -
Lol B e Al e allad) oda -
el 5ol 5 el e i% 8 finite verb JI -
Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak
2.3 person singular form of the verb
e.g. walks, talks, drinks, speaks
3. The simple past form of the verb
e.g. walked, talked, drank, spoke
)5 ¥ Led aadal) JladV-
RS - SOV 1) R
con LS Jadl) L o(—ing oo s —ed 0 1) il g Jadll sa T3
walk, talk, drink, speak /e
. dadll Tapll o ) IS e alial cllalSl 2a S -
L Cnill 3 ) G o lall A =Y
o (5) sps 2iall G Gkl dadle 4l Giliae Jadl) ¢ sSons Lin-
walks zual <<walk /Jie

& il Calall a5 3 jhe Jeld lal o6& Ladie Jadll e (s) 4edlall o3 Canai s
(§ Soaall) pualadl e

talks @ual <<talk
drinks zw<=i <<drink
speaks zuai <<speak

dasﬂ .Lu.uﬂ\ @a\.‘d\ ‘\.z_b.a -y



10550 38 Jadl) o o e Lagan aadally 5
!'"' ‘)...\.C.‘— _ l.... _
—ed 4 il >>walked<<walk /Jie-

—ed 4 Ll >>talked<<talk

o oY) LegalSs e Wails g —ed  Legd Litald aduinall JladW) (e L (Dladll (5l3a-

el e s
drank>>drink
spoke>>speak

oealdl ey Al 8 Legd&S i aalatia paal) JdY) (e L 3ladll (l3a -

Exercise:
What is the form of the finite verb in each sentence?
a. base form b. 3™ person singular form C. past form
1. The manager talked to the employees.

c. past s <ol 13 ¢ dadll 8 (ed) 2sn sl (pmlal) e (B 4 s talked sa Jadll-)
form

2. He drinks coffee every morning.

Jadll () Laadi Laay) 5 (5) 2_tall Al Caylall Aadle 3 ga 5 Jaadl 5 drinks sa Jeall-Y
b. 3" person singular form s <l sal) 131 ca_jie C6 Cala a3

3. Ahmed and Khaled usually study together.

Gl oyl Aadle 40 aa 0 Y Layl 5 (ed) 49 2352 ¥ 43l Laadl 5 study sa Jadll-Y
a. base form s < sall 13 (s) 2_al

4. | went to the mall yesterday.

13 ¢ go (b Jadll (ja palall Zapa 4 5 "alaile pe Jxd 8" went s J=dll-€
c. past form s <l sl

5. At eight o’clock every morning, my father goes to work.



<Al BN Caplall JSG g8 5 goes sa Jaill-o
b. 3" person singular form s wlsall 131 ¢ Jadll Llgi es Ll goes<<go
s23a4 yll J=8¥INon-finite verbs:

Non-finite verbs do not show tense, person and number. The verb

“come” in the following sentences is an example of a non-finite verb.

e.g. | expect him to come soon. We expect them to come soon.
(person and number)

He is comingnow. He was coming at the same time yesterday. (tense)
roddad sl Jlady) dddlia ) Jiiiie-
Ll el 5 pasdll lede 5% (o33 4) JdY1 (5)) finite verbs J of Lile 13-
..Non-finite verbs =% oS3 Gaw Ll LuSlaall-

Lo siaa) 2aall 5 il 5 adlll U Leale jedai ¥ Al JladY) & teddad sl JldY) -
(b S a5 ot e

:23ad uall Jadll e Qe 4l 4BeY) b “come” Jadll-

Laml) o el sl sl U e o) s i Y eadad el Jladl) 131

| expect him to come soon/dJ%s-
We expect them to come soon
1o i) 35 bl Giileal) 8 Jaad-
(1) DY) cashll 8 adl g o sie Jeldll >> 5V aleal) i
(We) Sl Cajlall 3 a8l g aas Jeldll >> 4l alaall -

Y 5 Non-finite verb 43¥ s s LS Ay iileal) IS 3 “come” Jadll -
Ll g el RS

He is comingnow/dJ%s-

He was coming at the same time yesterday



LOe N G s i Y "coming” Jadll-

(g mall) alall ey 4 138 >>( He is coming now ) o s¥) aleall -
a4y 3 1>>( He was coming yesterday ) 4l aleall é -
. Non-finite verb s "coming" Jadl 13-

[(be) 4l a8 A plaul (Sl
(is) Y alanll
(was) 4t aleal) 8
..(is — was) "finite verb - 2as J28" g4 435Sl Jad 13
Non-finite verbs can have three forms:

1. The infinitive

The infinitive has the same form as the base. It is often preceded by an
infinitivemarker “to”.

In some cases (e.g. after modal auxiliary verbs) the infinitive is bare
(without “to”).

For example: | am waiting for him tocome. (Infinitive with “to”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking
3. Past Participle (also called —ed participle)
e.g. walked, talked, drunk, spoken
roddad il Jad¥l s o o ks sl
el iian )
() JKEN) Al fapa (i Al jaiadl) dxpa

J=dl -The infinitive verb) dé U & 5 jaadl Laa dadle 4 (to) da-



=2 Hdhadll dapa ("auxiliary" sac Lisall Jlad¥) amy d’_’m) YA amy -
..(tO) A alaad) L; O \,J 13l (cJ);.d\ ) asy pall —bare)

.(t0) U2 aadll ge o sle s bare infinitive I 13-
to = infinitive-

sl mrall Jaadl ) Bare Infinitive = 5 >>to O infinitive-
J‘&)Sﬁ\ JJ.\AAS‘

| am waiting for him tocome /Jt«
.. to @&« infinitive » >>to come
. Jrill sl (KA 58 131 ¢ (Base Form) 4aslal 42ua s >>come

coail <<—ing el camial 5 ¢(came) gl omlall e (A S Al el o2a -
.. (coming)

.. to O infinitive s W Jzilé to Leld 5 come 13-
He can come tomorrow /Jb«
..verb "auxiliary " << 25 can Ua Ll
:sla(come) s can ax Jadll-

s

"41lisl 42pa - Base Form" -
(3334 —finite) s s W " aas dapa — Infinitive"-<
.. | come here every day< 4lall 232 3 (come) 4al<l 4liia Gl 58 -
..(2334% —finite) ¢ come>> (I come here every day) 4laall s3a A-
1Y " jaas Laa —Infinitive" sl come ¢lad) aleal) b Lal
.. can<< s sverb "auxiliary " = G-
1Y "3 yma 5l e jas - Bare Infinitive" e s
.(t0) AalSy i Al J=all -

: Present Participle-Y



.. (ing-participle) = Ladl e 85 ¢ (=ing ) 4d) lilas Jadll oa -
walking, talking, drinking, speaking /Jis-
..Present Participle = (—ing) 4l ilias J=i sl 13-
: Past Participle-Y
.. (ed-participle) L) sex 38 5 c4Bld) &l palaall (0 oSI Caglna b o
aliiie Jadll 138 SIS 13 Al b med 4l Gl oalall ey b i OS 13-
< LeglSa a5 (-ed) Legd Libald (lalaise (Mad Lt >>walked, talked /JGe-
. Leella e olalaiie je (Dlad L >>drunk, spoken Wi
Base Form(simple form)>>drink 13-
finite>Past Form>>drank

non-finite>Past Participle Form of the verb drink>>drunk

Base Form(simple form)>>speak
finite>Past Form>>spoke
non-finite>Past Participle Form of the verb speak >>spoken
sl g el g el iy ol e ¥ >> drunk, spoken®
Exercise:
Decide whether the underlined verbs are:
b. non-finite a. finite
1. He was able to walk after physical therapy.
eedelall yias Ladie yuaiue J& >> walk-)
walk d=all yis ol asy Ja . He Jla They L -
They were able to walk :Jsas--

finite - O3se (Dad" Lia were s was OY ¢ were Ciasald was Uie L bada-
.. "verbs



"non-finite - 23sa e sa 13 ¢ s LS iy walk Jadll of aadl s

b. non-finite s < sall 131 ¢ Gaddll 5 axall Cany jiady ol sed-

2. He is making a chair out of wood.
¢ s 13l Jeldll Wyl 58 >> making-
They are making a chair out of wood :J s&#-
. "finite verbs - ¢l3se oMad" Laa are sis oY ¢ are Caaldjs U jie Lo La-

2 sl 1)) "non-finite - Ydae " 58 131 ¢ sa LS iy making Jadll of Jaads-
b. non-finite

3. He made a chair yesterday in his workshop.
¢ Chaaiw 13l La agia ) o yisll 25 o8 >> made-Y
He makes a chair everyday in his workshop :J s#-

Ol Uy 13 ¢ g, finite s ol sadl 131 e 3l Canny Jrdll yiad 28 Slad asf JaaSl
oo Jaalld

4. You should spend more time studying.
¢ Caasa 13l Jeldll Wayl § >> spend-¢
They should spend more time studying :J s-
He should spend more time studying
| should spend more time studying

* 5 "auxiliary model" el 48 daf i ¥ spend dedll o) Jaalie-
..(should)

2 Gl sall T3l "non-finite - S3ae 2" s (should) 2= sla 3l spend =il 5
b. non-finite

5. They spend time together every Thursday morning.

9 i Ja 8 Chass 13l Jelall Wl ) >> spend-©



He spend time together every Thursday morning
L2l e axi-
LAl ada o il Gl G plall (S Leadiia Ll Jaadls

a. finite & <) all 13 « "finite verb - 23aa Jad" sed yiad Jadll Y 5

s3daa yadl A edaall 5 jlinll i o_ailiFinite vs. Non-finite ((Clauses)):
A finiteclause is a clause which has a finiteverb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finiteverbalgroup, “is waiting”.
LY A bae 5o ualaall ey Tl 3 G SA
L Jad o (5 giad o 8 azeddadl o jadl) gl o jluall
He is waiting for the headmaster to come :JUall Juw e

is ) s 5 "finite verbal group— s33ss 4lad 4e sane" o Jlie g odel 585 Lo
."finite clause - s33aa s 438 5l o e & <) iy 5 (Waiting

¢ ch\}cd;;ﬁcﬁé}i c‘)\_}c }ch\}cd;uﬂ\,ﬂajd.cwu& Lu...ﬂ;\.l\-
.. (One finite verbal group & One finite clause )

aglad de gene o (5 5int LY sadas agled o i gl o e & >>He is waiting 13-
..(is waiting) (s o33>a

: OIS ) su " finite verb" e sy o s finite clause of re )
(finite verbal group sl One finite verb )
A non-finiteclause is a clause which does not have a finiteverb.

In the previous example “for the headmaster to come” has a non-finite
verb “to come”, but does not have a finite verb.



At least one clause in an English sentence must be finite.
L Jad o ggind Y il o i) azeadsa il oL@l gl o Ll

..(non-finite clause) sed 3se e Jod Lual 5 3aa Jod Ll (S5 o1 131 13-

for the headmaster to come /@l J&all 4 -

o e sla s 4385 (to come) J=dll Ll s ¢ (the headmaster) sa s Jeldll Ll -
43l ) (Infinitive with "to" ) s s « " non-finite clause - sXaa & o )i
"to" = -... L;Q s

5 (to come) sa 5 33y J=b e (s 5iny (for the headmaster to come) 13-

! Q‘d)‘*—‘ 1
" claus&------ )
a finite clause afinitevery - (s 31 5 e 13
| ol s Y ]
a non-finite clause | —————a# ite verb-
J oo i asly )
a non-firite-vefb—>

Lol JBY) e saal 5o 588 (0 oS () cangy << 4 JaladV) 4zl g

s34 (3583 Ol any 5 JBYI e saal g o3 e (o siad ()] cany << alalS Al Lyl 1I*
. finite-s2daa" o jadll

Simplesentences consist of onefiniteclause.
e.g. He s astudent.
.."One finite clause — s3al 5 o33 o J&" (4o (coONsist — <allhy) Adasud] Jaall-
He is a student /Jis-
finite verb - 23aa Jad" g4 >>is -
Al alaa 532 131 < "One finite clause — saal 5 sddaa o 8" Lyl
.. 4w 4les W &1y One finite verb a= One finite clause 13-

Compound and complexsentences consist of two or more clauses with at
least onefiniteclause.

e.g. He s waiting for the headmaster to come.




two or more - S| sl (i 8" (e (consist — k) saiall 54 yall Jaall-
.."clauses

0585 o g o8 (e ST e (g giad culS 1) 1 oy 588 ol (e saal g JIY) e
Uad" A;s (CIaUSE'{)Bﬁ\) Y 95}\;3 ) Lf‘ M"finite— sadaa" Q\)ﬂﬂ\ 0da (e saal g
."finite verb— 23sx

He is waiting for the headmaster to come /Jti-

."finite clause— o33« o 8" & >> He is waiting-
."non-finite clause - s33sa e o 8" & >> for the headmaster to come-

> (is) s L finite verb g finite clause (e s sind LY alaiSa aleal) o3 5
."finite clause" Wlisaw cuull 3¢l

Verbal Groups
adeill Cle ganall
Verbal Groups :
Verbalgroups can be of five types:
Type 1Modal +Infinitive: could see, will come
Type 2Have +Past Participle: have telephoned, has begun
Type 3BE +Present Participle: are coming, were waiting
Type 4BE +Past Participle: is grown, was broken
Type 5DO +Infinitive: did not like, Did you know?

L G AV (Verbal groups - 4sladll Cle seaall) o Whas JaSiu o jualaall 028 -
al ) o palaal i Lgie Gapaal)

s el 0 (S a8 agladl) e sanall-
Modal +Infinitive:JsY! £ ™
rh s ¢ Wla L SY 3 Modal Auxiliary ) o5 S

- saadl) agl laas can, could, shall, should, will, would, may, might
..(Infinitive



&3S W (Bare Infinitive -2)34) Juadl 5l m pall jaadl) et alall sda i

an infinitive ) s (an infinitive with "to" ) L_S3 calull o palaall (0 @lld (5 S5
=3 (The infinitive with "to") «(without "to"
.."Bare Infinitive"

Modal +Infinitive:ds¥) ¢ sl e Jia-
could see -)
Modal s >>could
(Bare Infinitive -253&l jaadl 5l o pall Huadl) 4 >>see
.. Modal +Infinitive Ll La 13-
will come -Y
Modal s» >>will
(Bare Infinitive -255&l jaadll 5z pall jaadl) 8 >>come
.. Modal +Infinitive Lual La 13-
el Gile ganall Y1 g gill apuslly 13a-
Have +Past Participle: Sl g si*
Had, Has, Have: (s 28-
have telephoned -\ /JGs-
."telephone" J=&ll Past Participle 4! s >>telephoned
. aliie Jed 4¥(—ed ) La¥! dadll e Lical-
has begun -Y

1M altia e Jad s "begin" J=dll "begin" Jx&ll Past Participle 4 s >>begun
..Past Participle ) s & J=dll JS& s

.. (Had, Has, Have) + Past Participle 1)

(e e ol aliiie o Ja) Jaill g g Ao aciag I



BE +Present Participle: &Il g silf*

s25) "non-finite verbs - aa il Jxall" 1 JUs ol Present Participle LS
—) dadll e Cayi Present Participle J) Al & o ) (—ing 4 lilas Jadl)
..(ing

—33aa J=i) 585 "is, are, am, was, were, been" st s (BE) 43 suSll Jad Lial T3l
.. (finite verb

.. (finite verb -23s« e J23) sa Present Participle 2 s
are coming -\ /JG.-

(BE) 4538 (28 >>3re

(—ing) 4 cilias J2dll >>coming

were waiting -Y

(BE) 43538 J=d >>were

(—ing) 4 wlas J2dll >>waiting

Agledl) e ganall CAEN & gl g 13-

BE +Past Participle 124 g s1*

is grown -V/JGs-

(BE) 4355S J=2 >>is

"grow" J=&ll Past Participle 4! ¢ >>grown
was broken -Y

(BE) 41518 J=d >> was

"broke" J=ill Past Participle J! s >>broken
.. 4ddadll e ganall il g 5l 5 13-

DO +Infinitive &) g odli*



(finite verbs - s23ss Jladl) oa 433Ul JladY) s2a¢ (Do, Does, Did) ¢S5 3 DO -
.(Infinitive-_saaall ) agll liloas "aasll 5f agia 30 o il 5 (asll" i3

did not like - /JGe-

DO I s >>did

(Bare Infinitive -2534) jaadll 5l zy pall jaadl) s >>like
:Bare Infinitive J):ads s=lo*

.. "Modals" =y b 5

L"DO" A Sl 8 -

Did you know? -Y

DO U alall apa 4 >>Did

Bare Infinitive " — " know" Jd=dll 25340l Huadl o)z pall juadl) 4 >>know
..(of "know

The first four types can be combined with one another to form more

complexverbalgroups like:
Ahmed will havefinished that book by Friday. (Type 1 & 2)
He has beenlearning English for four years. (Type 2 & 3)

He will havebeen learning English for five years by next October. (Type
1,2 &3)

The president could beseen by everyone. (Types 1 & 4)

He is beingcalled now. (Type 3 & 4)

R a" 1 535S (o agiSay (@l W) el ¢ SN gV g ill) sV an Y1 g1 891
ST agledll Gile ganall delpa sl (Garn agS i o gSaall (e 131) "combined
(Uor aeS 53 DA e Taiad ST aglans of LSSy (S0 5 sdine Jan pd Juall) Tadiad

Modal +Infinitive s s Js¥) & sill Ly =3 /08 Juwe e

Have +Past Participle s& 5 Sl g gl aa



Ahmed will havefinished that book by Friday -
P8l g il b g e J9Y) & sl Swill have finished

Gesll LS Lgle §54 Y (Infinitive -_ias) o allall o3a  "have" >>will + have
L (O sl sa 1) aax) o pasill

Have +Past Participle = ( &%) g sl s 13a) >>have + finished

Leghay ) xie S 5 J ¥ g sl (o (combination— S ill) L za g JULl) 13a 13-

Have +Past Participle s 5 SUll g sill Lk ) =¥

BE +Present Participle s il ¢ 5l as
He has beenlearning English for four years-
LGl g il da g e G g sill >has been learning

"finite— 3a4"< has s> (Sl g 5l 58 1) >>has + been
e Jadll e 353k (been) Past Participle+(has, have, had) oS 8 s
_"Be"

..been & "Be" I Past Participle 13-
(&l g sl sa 13a) >>peen + learning
"Be" Jxill Past Participle 41 s 5 (Be) 41581l J=é >>heen
.. (-ing ) A Cilas J=dll 51 Present Participle 41 s >>learning
LGl 5 S e sl G Al U gy QUL 13a 13-
p Ml Q) 8 LS ¢ g il ¥ Ly Ll iy Y
He will havebeen learning English for five years by next October-
LGl g S 5 OV e sl G S il -
Modal +Infinitive st s Js¥! & sill Lilay 5
Have +Past Participle s 5 SUll g sill s

BE +Present Participle s 5 Gl ¢ gill aa



(s & 5 58 13a) >>will have -
Modal Auxiliary>>will

(Infinitive -_x=4ll) >>have

(S ¢ sl g8 138) >>have been -

s2cldll & "Have" JI »¢ >>have

"Be" 435Sl J=é (3 Past Participle 4 s2 >>been

(L&) & sl sa 1) >>been learning -

" have" = <l LY (been) <X 5 caclill i"Be" JI s >>been

Gl & gl W ¢ pail 43 3l Jad 22y Sels ¢ Present Participle s#>>learning
cAdlzdll Cile ganall (e

into one—aﬁ:um;\}c\_)hj«cwé\) Sl }LFHL'“J\ 5 dY &}d\ Liday -
..(complex verbal group

Modal +Infinitive s 5 Js¥) g sill Lk j JEall 138 & -4
BE +Past Participle s & )l g 5l e

The president could beseen by everyone -

could be -

Modal Auxiliary>>could

5 55 o1 " be" f a3 5 "B 435580 adl Infinitive i) ks Lis Ll >>be
(Bare Infinitive - gl Jaadl) o 131 "to" 4l lgiw ol

be seen -
43 Sl J=d >>he
Past Participle of verb "see" s >>seen

LN ¥ g sl e S N W) e gy JUGl) 13-



BE +Present Participle s s CIUll g 5ill Lilay 5 -0
BE +Past Participle 525 Il & sill ae

He is beingcalled now -

(&) & 8l sa 138) >>is being -

(Be) 4 5uS) Jad >>js

=(—ing) + (Be) ' ¢ (—ing) + J=&!l sa 5« Present Participle X! 2 >>being
being

(&' A g sl s 13a) >>being called -
"is" o Gat Y (—ing ) 4 lilas ¢la Lia (<15 (Be) 4i5uSll Jaé >>being

Past Participle of verb "call" s >>called

All such groups are formed in the order 1, 2, 3, 4, as follows:
4 3 2 1

Modal + (Have +PastParticiple) +(Be +PresentParticiple) +(4Be

+PastParticiple)
Db LS £ Y Y Ol e ¢ Ll adlull e gaall JS-
4 3 2 1

Modal + (Have +PastParticiple) +(Be +PresentParticiple) +(4Be
+PastParticiple)

&N e sl e B U8 Gl e gl o e JY) Jd A e il Jeas o LSy Y T

Cad L &l Ja
+ S+ W e sl S+ IV e ) e et il e 1Sy of qang Sl -
(i)

U S PP [ g PO g
Yo



combinationRule — La il 5 a5l sacl) ¢ oS5 138 Lyl 5 ¢ sl 4y yLall oy
.. (of

t SIS €YY O s oY s il -
J ¥l ¢ 8l >>Modal +Infinitive -

Sl ¢ il >>Have +Past Participle -Y
&l ¢ 4l >>BE +Present Participle -v
&V g il >>BE +Past Participle -¢

il 138 i o e Y ARl alieY) 8 Lled LS any ag 55 Jay 53 (o L i 130 13-
L(E YY)

Note 1: The meaning of the verbal group is contained in the last word.
e.g. He has been learning English for four years.
BT URNN| «* ( contained -3 ) ) alzdll de ganall iaallr oY) als salall

Lexical )= e 35 capladl) 4e sanall al s () 2 55 Ll inal) el o2 Y 4l T31-
.. ( meaning

He has been learning English for four years /J%s

a5 () 3% ) "Function" b agil caleall s 3 Jine g1 )5Sl Y >>has been -
(a4l 5) aleall a3 i La

( Lexical meaning -seaaall sixall éllai ) sl ¢ sxall dllai >>learning -
__mj\wsjm"ei@u‘,m " o haati el Liae
coaY) AN e AR H aladl] de sanall b el T3

Note 2: Only the first word of a verbalgroup is affected by person,
number and tense. The first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.




Lol sl o paddll de %) agladll e ganall e o oY) 4aIS]) L
.. (finite— s33a4) & sins 1Y) 4ISI8 4 ke 4 pane Lial (S 13-

ac saaall gaan Jrad Gl & Agdedll de geaall 8 (Y1 Jail) 1) V) 4l T

.(finite— e32a4)<

He has been learning English for four years-) /J%

— 032a4) < e sanall paea Jaay ) 54 5 (finite verb— 23a4 J28) 8 >>has
..(finite

" s (UsY) Jadl) o) (Y1 AdSh e 5 gay Juadl) 5 eddad 4gdad 4 gana Lia Lial T3l
.."has

| have been learning English for four years =Y

LG 138 8 dgledll dc gesall & 555 63 a5l a"have" of asd ), -

"He has"<< Js¥) Jual i -
"u haveu C‘-"‘Aiﬁ );u Lﬁ‘ﬂ‘ " Lﬂﬂ " hasu Ui L}h\j " Iu ‘;“ " Heu d‘;m‘ Li‘)..}c Ledie

..(Non-finite— s23a4 ;2) < Legia IS ¥ Laa WS Uiy (learning s been) -

¢« Past Participle » >> been -
Non-finite -s33as sl Jud¥) fia s3a) & " Past Participle” ) ol S
..(verbs

¢« Present Participle s» >> |earning -
Non-finite -s23sa sl Jad¥l) &ha s2a) 4 " Present Participle” 4 o Sxis
..(verbs

.(finite— 23a3) ()5S 3w gl s S Jadll o b (g peiias 13-

They have been learning English for four years-Y

. owi Al g8 "have" -
They have &spal << He has-

.. 1w ol been learning-



.(finite— s33a) 4ylaill 4c sanall ares Jaa 3 52 Lia J5¥) Jadll T3l

sle 35my Juadll 5 oadak 43lxd 4c sena & (has been learning) ob Jsill gakaias Tal*
kel ae gaadl) 8 iels 3 01 4K a5 " has™ sdadll el

Exercise:
Choose the correct order for each verbal group:
1. a. haveseencould b. couldseenhave

c. could have seen d. seen could have

SV Y siall LAl L (b, ) of Lias 58 ol LAY o3 & Modal ) (e Canin =)
oY

(Past Participle) s "seen" s >>h. could seen have-

" have" W >> c. could have seen-

«(Past Participle) J# L " have" ol W S Ls-
c. could have seen s allall sda & sall (i sall 13)

Modal +Infinitive< Js¥) & sill Liay -
Have +Past Participle< 4l ¢ sill ae

2. a. have should been doing b. doing should have been
c. have been should doing d. should have been doing
A R EQ PR TY ‘; Modal J) (e i Y

d. should have ) s 4uly & "Modal" e 6 sisa ) aa ol Gl sl i aadls-
(been doing

should have been doing -



Js¥) ¢ sill >>should have -

"Modal" s» >>should

(Infinitive— _xas) 2 >>have

Sl ¢ sill >>have been -

" Have" s >>have

(Past Participle) s >>been

Gl ¢ 51l >>been doing

"BE" 435Sl J2d 58 >>been

(-ing + J=dll) ) (Present Participle) s» >>doing

3. a. has been studying b. studying has been
c. been studying has d. studying been has

sl b ady S g gl e CGman 13 an Y Y Slia Modal Ll da Y
.. (Have +Past Participle)

(a. has been studying) JWaY) & lalias 8 ¢ (has) s " Have" Judl laa i
has been studying -

Sl ¢ sl >>has been -

" Have" s >>has

(Past Participle of verb "be") s >>been

been studying -

"BE" 4351Sll =i 56 >>been

(-ing + J=dll) ) (Present Participle) s >>studying

. aikld 4ysal (b, ¢, d) Alladl s3a a T3l



Verbal Group Types
alaill 4e ganall g1 50l

(S IV g il zan s Tl anli S5 cagledll 4 sanall g1 530 (e g 53 JSI (3 ki (Y)-
LAl ¢ Sl el

il (e Jidiy agie aal 5 O 2alin oY) 5
Type 1 Modal +Infinitive :

® The mainverb which follows a modalauxiliary will always be in the bare
infinitive (without “to”).

e.g. can see, could see

* Modals are not affected by person and number.
e.g. He must know how to speak English.

They must know how to speak English.

e All verbalgroupsbeginning with a modal are finite.
:(Modal +Infinitive) sas [Js¥) & 5l — Tasie-

o= ! (Bare Infinitive) Wil ¢ 58 Modal Auxiliary 3 gy s3) ol Jadll -
0" AalS Jadll Vg ML;J_QJJ

) ) g Toa 3l
Osx (Bare Infinitive) s J=all 1aa (58 Modal ) am (L J=8 () Seeo- -
40" = it o

couldtosee ' cantosee<< Jsll &€y Y /s

couldsee s cansee<< Jall dliCay (&I
s sl e a4l gl (Bare Infinitive) s " see" (sl Jadll Lia-
e 138 5> daall 5 padill < Wle %3 Y Modal ) -

g eall 5 20all 5 (adilly agile i3 (finite verbs— exdsall Jlad¥1) of T Ll
L Auali Adla 0lgh (finite— sa3ad) il oS 5 2aal 5 padilly lele 53 YModals

-
- ~
7’

@ . . 3
5 oandill lde 5% Y Ll Avld Al Ciels Ua " Modals" ) of - S o L

S_—— -



.(finite— s3iak) Ciela LSl
He must know how to speak English /Ji
They must know how to speak English
Lol g addll U Ladie Jia Gillal) WIS 6 o 5 iy ol
He must know -
el QJH\ECSJJJAAJQG}A >>He

Lol

They must know -

Lo

.(finite -03935%) a8 Modal = 1ag il 4dadll e ganall JS Y

s oS 5 il 5 23l 5 (et Lgle Si5h ol addadl) Cile sanall o3 o s
(finite -0 532a%)

Type 2 Have +Past Participle :

This type is an expression of the perfectaspect. “Have” is used as a
helpingverb (auxiliary verb). The helping verb “have” is finite and
changes according to person, number and tense. For example:

Hehas read the book already. (presentperfecttense)
Wehave read the book already. (presentperfecttense)

The students had already gathered in class when the teacher entered.
(pastperfecttense)



:(Have +Past Participle) s /&) g sl

perfect -"aUll Jadll Aapa" JUall Cuils) U ((expression -_wnad) s & sl 1a-
..(aspect

The s The perfect aspect) ue 4bbadl 4 Hxill 5y gall B o giu )3 La (5 SXI £35S 131
raeilial (e 5 (progressive aspect

(The Past perfect s The Present perfect)

¢ sl 8 s Wal L Jis (Have +Past Participle) = ¢ L= "The perfect aspect" -

.. (&4 ¢ s = The perfect aspect ) ol -
..(Auxiliary verb -2clus Jad) < 23354 " Have" -

s paddil) e 5 4l T @lld U S5 > (finite— 23a2) 2 "have" acluall Jall-
L) f sl

(Present perfect tense) = 4 s >>Hehas read the book already -\ /JUis-

Present perfect ) =X 5 >>Wehave read the book already -Y
(tense

ool g ol i ad-

The students had already gathered in class when the teacher -Y
.. (Past perfect tense) =X 25 >>entered

;\':‘T}m L;% " hadu P M had" RPN ;\J\ L;héu Glé L,\A‘)S\ 1 > L)‘“JM v );u-
" Have "4 o=l

Type 3 BE +Present Participle :

This type is an expression of the progressiveaspect. “Be” is used as a
helpingverb (auxiliary verb). The helping verb “be” is finite and changes
according to person, number and tense. For example:

Heis coming. (presentprogressive)

Theyare coming. (presentprogressive)

Hewas waiting. (pastprogressive)



Theywere waiting. (pastprogressive)

:(BE +Present Participle) s 5 [EdBl g oil)

( progressive aspect - 23 caila) U el o4 g sl -

Jadl) dapa" il Cuila) U yued 54 <"Have +Past Participle"ds¥) g s 13-
(perfect aspect -"aull

- eaal quils) A yuad 58 < "BE +Present Participle” Sl ¢ 53
railial (e 5 ¢( progressive aspect

(Past progressive s Present progressive)

sn

i R b (finite -92a4) s 5 «(Auxiliary verb -2l du’) emu:' BE"-

bt is coming - /J%

—'Fhey are coming -

Lol g Gadall R JEAC 38" BE" 45kl Jad of Ui Jaad -

oy )yt Lﬁ‘ c(finite -Q\Jf;;.i) Lad 13gd ¢ s dll g aaell Conun | yuas (are - |5) -

FTommmmmmmmm-m--n was waiting -V

—Fheywere waiting -¢

. oandll 5 aaell G | (were -was ) of Ll L Iaad -
A g V) alaall o e

jmmmmmmmms-----oooog ’—H-eiscoming
| 0o e s (was -is )

"""""""""" —He was waiting

*

R R e LT R is coming

_______________________

—T-hey are coming

i as waiting *
I Pastprogressive < (YU L |
|



They were waiting
Type 4 BE +Past Participle :
This type produces the passivevoice (in contrast with the activevoice).

The verb is active in this example:

Ahmed broke the window. (activevoice)
The verb is passive in this example:

The window was broken. (passivevoice)
:(BE +Present Participle) s /&2l A g i)

99 ailull 2Ll 53 DA (e 4S50l 48 gl Passive 4e Ja cPassive I ks & il 12a-
s RS i g e pde BN o pualaall culS 5 (5 alll Sl ol LLAAT Lial Siad )
(11,1 5S35 130 o pumlaall L ot s )

Al 4slll 3 "voice" J) g) sl saa) (& Passive -

) Jiiue G sea >>]Passive voice[ ! «(Active sl Passive) @ oS 3 "voice" -

((Jsenall S

22 gie & ga >>] Active voice[s!
(pobrall (e ) sl

JGall 13 3" Active" ela Jadll -

asbaall e (¢l (active voice)>>Ahmed broke the window

JGall 138 8" Passive " ela Jadll -

Jsexall S ) (Passive voice)>>The window was broken

< el ()lSa slinia g g 4s Jgriall AT Ll ga Lia oliled (g2II*

. (the window) s 4 Js=iall 5 (Ahmed) s Jelall 1 51 aleall 5

& (the window) — Ulay 131 g Jeldll ela "the window" : 4l aleal) i--
..(was broken) - lalixs



Be +Past ) s 5 4daill Cile ganall (o gl )l £ 1531 ladiuly Passive ) Gaal 13-
..(Participle

(The window was broken) << aleall Ciayals-
uBeu 4_1}.\...&5\ d’ﬁ >>was
]break, broke, broken[<Past Participle of verb "break">>broken

Jsexall il ¢l (Passive voice) ) 4xa Lt >>was broken -

Modal Auxiliaryli:Js¥) g sill-

perfect aspect: Al g sill-
progressive aspect-l: &l g oil)-

Passive voice-l: gl ) g sill-

Exercise:
Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)
c. Type 3 (be +present participle)  d. Type 4 (be +past participle)
1. The machine was fixed.
(Verbal group -43lz8 4c seaa) >>was fixed -)
" be" 41581l Jad >>was
Past Participle of the verb "fix">>fixed
Jseaall Sl ) (Passive voice) A e b 128 T3l
d. Type 4 (be +past participle) s sl
2. He can fix any machine.

can fix -Y



Modal Auxiliary>>can

"Bare Infinitive" <85l iy & 5 (Infinitive -aas) >>fix
LAY sl e Jlie e 13 ¢(adapa) axpall) oV Jail) dapay Ua ola " fix"-
a. Type 1 (modal +infinitive) s masall il sall-

3. He is fixing the machine.

is fixing -V

"be" 4 Sl Jad >>is

(ingfix +) = (-ing + J=dll) ) Present Participle>>fixing

.. Glldll ¢ sl sa g (progressive aspect) A le Jlia 1a 13-

c. Type 3 (be +present participle) s zuaall @l sall-

4. He has fixed the machine.

has fixed -¢

"have" (= 2 il dxua 4 5 >>has

Past Participle of the verb "fix">>fixed

. S g sl s s (perfect aspect) ) sle Ja 138 13-
__Ué.nlag\ P 5 alall e (A Cela L&Y 18a ¢k >has -
i ) J2dll e (Past Participle) A dea 4 5 >fixed
b. Type 2 (have +past participle) s zuaall @l sall -

Type 5 DO +Infinitive :

In this type, the helpingverb “do” is called an operator. We call it an
operator because it helps in a number of operations performed on the
verb phrase (VP). Some of these operations are:

Operation 1:Negative

To form the negative, we put “not” immediately after the operator.



e.g. He doesnotwant it. They didnotcome here.

:"DO +Infinitive" /58 s 4ladll 4c sanall &1 531 (o (ualdd) £ gil) 8l V-
el sl 934 6l (an operator) = =3 " DO" aeludl Jadl < g il 13-

JPLIRT A3y @y 5 arandll odgd Cuns a5 «(an operator -S\Ats) —ose i yad 13l
— 35 S (operations -isles ) (e
.(VP) 4ul=dll o 5l e (performed

.4dlisd) (operations - <lilec) d o3 Jee 3 Lacluy (an operator) 13-

o sl sl = Lass (operations - U_agks)&m Lellac by LS Al 1y ekall Jsag

roperations I eda (e 13-

:(Negative -(Aill) A g¥) dlaad) -

.. (operator) 4l 23 158 (not) 4l gl ol (pe Y A delua Lyl 13
..(operator) 4l & " DO" 4alS allal) o2a A-

He doesnotwant it () /Jbe-

LBl Gkl Al sa 5" DO" Jrdll (e g el 3 sl Aasa 8 5 >>does
.. 1,5 (does) 3 &85 >>not

..(operator) J) a0 " not" auai (Lo dlea i () Al & fal S

.. "does" s 5 (operator) 3 2 " not" Lidal aleall 28 -

They didnotcome here (Y

L"DO" J2dll (e ol drpa 2 5 >>did

.. 158 (did) 2 &85 >>not

s3a Jaail (gl ] ¢l goail " not" s3a3 &l 55 ¢ "did" 525 (an operator) Lual La-
.. [« operation -

Operation 2:Interrogative (question)



The interrogative is formed by placing the operatorbefore the subject
and leaving the rest of the sentence unchanged.

e.g. They come here.
Do they come here? (interrogative)

1 "Jsd™ (Interrogative -Axaliiuyl) 4ulil) 4xlaad) -9
llues 5 (question) I OIS S Lee 5 o) Jadll g1 53l e Tl ol 583 La ()5 ST
..(Interrogative -4xliinyl) st 5 5 awes Ly

( 2523 -Interrogation) o 2sak "aleiind¥) - Interrogative" *
(Sl slaall (e 38a3ll-Interrogate information ) x5 Leie (gl

«alaall &3 (operator) 4 2 "not" aai (Operation 1 - (A sY) addaall) A-
daal "Je Wl Jé (operator) ) aai (Operation 2 - 43Ul 4glasll) 8 L (<]
o Aalgiinl aleal)

LomE Y o S alaall 438 5 "Je W™ Ji8 (operator) J) pal 1al-
They come here /Jis-
.. (an operator) ) zliss anlgdinl aleall A2 lua Jaal-

" s (operator) 4l osSad "s" e Y 5 lilal (s (come) s Adladl o S -
.."Do

Do they come here?: Jsié-

¥ oo gl as e sle L ¢ A ol alaadl A 5 4ol (3 " DO" AalS Linia 5 Luih-
ot LS aloal) Jrnd B ¢ palaadl g Jlinall dipn (3 Y5 el Bapm (B Jedl) e o
RS (e

" < (operator) J e 2 pa Junill 5 4saleéivl & >> (Do they come here?) 13-
.."Do

Operation 3:Tag question
He did his homework, didn’t he?

They don’t come here, do they?



: (Tag question - Sl J)ge) 4G Aylaad) -
..(an operator) ) zlsi A€ gl J) g ¢ gl

& Cawai o) Loyl s (He did his homework) << 4leall s3a Lyl sl 130 - /-
He did his ) << alaall muaivé "did"< (operator) ) zlss S 58 J) s Ll
..(homework, didn’t he?

2S5 Jlse s >>didn’t he -

.. (No -¥)sl (Yes - axi)s 58 S 5il) J)sad () sSaus ol galli-

.. Yes, he did<<cufia Gl sal) o 2S5all (pe )5S )l 128 &SI

.. (operator - dale) dI sa "did" Alall o3a i

They don’t come here, do they? -Y

2855 Jlswe 4 >>do they -

LS g W g geay S U slieadinl 5 (operator - dale) d) s8 >>do -

.. No, they don't<< Al § sSow S all (0 @l gall-

1 Oeielual (operator - dale) ) (g paiiui (g3 5 (operation— Cibleall) (e gl sl O a 228 ]
1- Making Negative [ Aadia Lelaa -
2- Forming Question [ g Al =¥
3- Tag question a{ AS g ) s =Y
Jal gad) —lS jadll
Operators:

In addition to “do, does and did”, operators also include:
1. Themodalauxiliaries (can, could, may, might.. etc)
e.g. Operation 1: He could not come.

Operation 2: Could he come?

Operation 3. He couldn’t come, could he?



..(operators - Jalse) I Jsa T ale ) Jais oY)-

Al (operators - Jalse) lia cpualall g il & (do, does, did) ) 48l
s el

:(modal auxiliaries) -\

(can, could, may, might.. etc) /J-

) ikl >>He could not come -V /JUis-

il duail"could"< (operator - dele) ) 2y "not" Lira s

Y aleall >>Could he come? -Y

Aalgding dapa Lelaad alaall )y 8 "could"< (operator - Jale) ) Linia -
¥ alaxll >>He couldn’t come, could he? -¥

S gl g grail "could"< (operator - dale) I Leasiul-

2. “have”, “has”, “had” as helpingverbs (and sometimes as mainverbs in
British English ).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?
..(operators - Jalse) S (slazy 38 > 1 “have”, “has”, “had” -Y

- Jalse ) S ageadiin Ladie agulal JilS i saclue JladlS agaladinl (Saall (1 -
..(operators

dualld Alla oied 4l Jladl (;@_ﬁu\ eéj:uaj s (operators - Jal 52 ) S ageaiin Ladie -
Ay ) Aall) die

J=iS lWiat (an operator— Sule) (558 Laie “have” J e (¢ sSiu 43Ul abieY) -
:( helping verb operator ) = ol

} 4kl >>They have not come yet -)



( helping verb -aclus J28) 5 5 (an operator— Sle) >>have -

(main verb - lul J28) 4 >>come -

st el Zelua Jaail " have"< (operator - dale) ) axy "not" AalS Cels -
Y 4laall >>Have they come already? -Y

Axalgfin drpa lelaay aleall 43la 8" Have" < (operator - dale) ) ¢ls -

main -=bal J28) s "come" 5 (helping verb -aclus Jad) cla La " Have" ;-
..(verb

¥ alaxll >>They haven’t come yet, have they? -¥

..( helping verb -aclus J=3) 54 5 (operator - Jsle) ¢la >>have -

..(main verb -l J=8) >>come

28 6l Jlgu guad " Have" < (operator - Jale) ) cls -

..2elue 28 S (operator - dale ) Al JMA (e (IS 28 55 J g T dplend) 2 lpa T30

This is an example of “have” as amain verb operator in British English:

Operation 2: Have you any money? (British English)
Compare: Do you have any money? (American English)

(operator - dde) S 23334 28 " Have" of Cus 4nals cla llia o U S5 *
main ) e [ 4xitay ) 4alll 3 laass acalall allall oda 5 ] ool JniS Caial
..( verb operator

/Y adeall Ll ke
( Have you any money? ) :Js& 4ty pll 4xlll 4 Jlal) s Leaie -

main -bal Jad) s 5 (operator - dale) sla " Have" << 4pilay yull 4xlll -
..(verb

= Aull Jadl el JU) o s *
< & & S

( Do you have any money? ) :Js& 4 ja¥) aalll 4 Jladl alhat Laaie -Y



helping -2clus J28) 2 5 (operator - Jale ) sla " Do" << 48y ¥ 4alll b -
..(The main verb LY J2dll) & " have" s «(verb

- Jule) axiiui ¢( Do you have any money? ) 1 Sy ¥ dalll  Sale 1ol

cd\}.m :\.c.\_ual Allall s2a ‘; Aolie J=S " D" < A g );i (Operator
La (operator - Jale) S " have"< (The main verb -ubwY) Jadll) aadius Y
Ll delual

t . BJ{J;\\)

_____

- dule) S asladin Gl «(main verb -l J28) <" Have" (58 Ladie-
oo Agilay pll axlll 8 Ladé (1 4l aaaidl (operator

w}ud\y&wxw@"DO"<}Q}(Operator-dALc)e""%JL:;-
Ay AR (G Lgalatind (aall (pa s ey Selai¥) ARl o220

n s n u n u n u

3. “am”, “is”, “are”, “was”, “were” as mainverbs and as auxiliaryverbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.
Operation 2: Is he here.
Operation 3: He is here, isn’t he?

s (operators - Jal se) S (slary 38 > 1“am”, “is”, “are”, “was”, “were” -V
Vs s as 0 Y 5 (auxiliary verbs) < saelue JadlS i dpulud JilS o ia)
P Ciall) WIS e i) i Ll (o) (A0S e ol agillay yall 42l 8 o) GilullS 4ala

=l Jai€ aliai (operator - dale) 0 5Ss Ledie “is” (e () sSiu 4allil) abiay
:(main verb operator) =8

) allexll >>He is not here -

Jaal o2z "not" Ll WY (operator - dele) sa i gll ity 5 bl Jad 58 >>is
. 4giie 4lesl

Y alexll >> |5 he here? -Y



alaall dasa Jaail alaal) &yl 8 olinia 55 " IS" < (Operator - Jale) I LA -
..(The main verb - b} Jedll) s " 18" 130 Jal Jad ol an 5 ¥ capalgdiinn

¥ 4Ll >>He is here, isn’t he? -Y¥
..(main verb -l J2d) 4 S8l Ludn g (operator - Jale) Al 4 >>is

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.
Operation 2: Is he coming?
Operation 3: He is not coming, is he?

selue Jai€ Ciliai (operator - dale) 058 Ledie “is” (e () sSiu 4allil) abiay)-
:(helping verb operator) =

) 43leall >>He is not coming -)
..(The main verb -laY) J2dll) 8 >>coming

aleall delua Jand sy ela "not" oY (operator - Jele) sa 5 aclua Jad s >>is

Y 4l >> |5 he coming? -Y
..(The main verb -laY) J2dll) 8 >>coming

5 lad dlaall Al i slieadinl 5 (operator - dale) s 5 aclua (28 g8 >>is
Al dind Lelany

¥ 4ilexll >>He is not coming, is he? -¥

..(The main verb -laY) J2dll) 8 >>coming

oSl g W gl A olieadiul g (operator - Jale) sa 5 aclua Jad g8 >>is
Exercise:

Decide whether the underlined verb is:

a. a main verb operator b. ahelping verb operator c. notan
operator



1. They do not come here often.

alaall delua Jaad "not" saxs ela 5 acluw J2d 4 5 (operator - Jele) & >do -)

..(" helping verb operator" e s 131 S
b. ahelping verb s <l sall 13 ((The main verb - s=lw¥! J=ill) s >come
operator

2. | have not seen this movie yet.

delua Jaad "not" eam ela 5 2clue J2é 54 5 (operator - Jale) 52 >have -

helping verb " e s 13) & alanl)

..("operator

b. ahelping verb s <l sall 131 ((The main verb - ¥l J=dll) 4 >seen
operator

3. Do you have a copy of the movie.

$9J) guall A Loal sliardind Ja KI5 ¢(The main verb - ¥l J=dll) 8 > have -
Ly Jadl " D" e lisall Jadll Liardind s ¢Jaii al Y

doranl alaall L0l sleadiul 5 (The helpingverb -acludll Jadll) sa > " Do" 13-
al " have" ¢S5 ¢«(helping verb operator) =% s 5 JI sl Wl
5 sl 1) ¢ bl JaiS ela L o) ol 42 aal (Operator - Jale) < L aadid
b. ahelping verb operator

4. He is not here.

s" e Al dad dlaallods dos g Y -8
=2 R 73\‘(operator - dale) ;A;(The main verb -lu¥1 Jadll) s >is fal-
< (operator - Jele) Jl 223 "not" Jeay i)l Biial 5 ¢(main verb operator)

a. a main verb operator s gsall Gl sall "ig"

5. He isn’t going, is he?
..(The main verb -t J=dll) 54 >>going -°©

helping verb ) =x s 13) «(operator - Jale) 58 5aclua J2d 58 >>is
b, s sl 13l ¢ "ig" aeluall Jadl) aladivly A8 sl J) 5 Uaial 5 (operator
ahelping verb operator

Form and Function



aihgll 5 4zpall
Form and Function: 4kl g 4auall
Form is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
Function is the “job” of the word/phrase/clause in a sentence.
e.g. Subject, Verb (Predicator), Direct Object, Complement
Lol (S adda gl g asaall o GO e S Eidatin o palaall sda ¥
..(word/phrase/clause) J) 4 jedas 3 jedaal) o JS3 g rdisall-
Mol drpa” e nyo Jlaal) selia 5 MKl Rapa” ey 4dlSH jekia of sl
M0l Alealld gam sall ansW) Alas cadad o e cAgand o le (Jad (ol [ Sie
o) Airga Jrdl) O o) () ela) Jrall 138 1058 Leie Sliie-
28 Whaua 4alSll ) (g (Jad Cela) 4alSl) o2 1585
. ABL) G yualaall 8 s S alial agd U S5 (VP) 5 (NP)-

oe sk sa s (clauses— <l i Jaall) 1 )il s2a) o8 > "relative clause” -

L) oLs () 4wl el nlaall i (clauses— <l o Jeall) ) e Citatiuk
.alaall 8 (word/phrase/clause) 2 deall (e o jlie s o148l gl)-
.. kel 24 (word/phrase/clause) 4 4la& L (-

Of Wil LS5 L& (NP) 4xensY) il jlall Jae 5 5 >(Subject -laisal) ol Jeldll) =) /e
..(Subjects - ixise s Jel ) (5 5S5 38 (NP) 4 il Ll

. A&l sl > (Subject) Jeld) carpall > (NP) 4an¥l o Lall 13-
tda (S 8 g4y ()5S 8 Lyl > (2wl —Predicator) Jadll -
 ALlSS ol Levie dia o S

.(Predicator) (YL Ll 4l el Lavie adids 5 ¢ 5So-



«( Predicate -4d) 2iuz) 5 deliz o (s sind adapunldl Jaadl () LB LS.
¢(2iall —Predicator) e 4l diuall A J2dll

it can be " i Jailly (W ko) Lebaa St of (S8 (assall-Predicator) ) dida s oS1
"filled only with verb

Ak S 5 aanal (Verb) llaas aadiu M-

aal) e 1" Verb" e (Y 4ids S (Predicator) sl (Verb) pllaas aiding %
..(Predicator) (s s lewds 4dula sl

(Verb) om paius i ¢(Predicator) e Bale PRENER | ¢ e Jagut] (Kl -
caspall g 4kl (e JS

4l (to indicate— i 5 _widl) (Predicator) (el aladiul Lad Liay oS-
Alaal) A Jadll Lelagy )

ARl &l palaall 8 5LLEEG >Direct Object -Y
oA ela o) o palaall s2a & w8l >Complement - ¢
Exercise:

Choose (a) if the given term refers to a form and (b) if it refers to a
function.

a. form b. function

1. pronominal group

L Weall 2 lale JUia B K3 54y jacall 40 sanddl e Tala L o
. all< g Jaee 5 ¢ We< e Wpal 4y yiaia 42 s A (We all)-

las 4l gl oleall" 4y elas Al jelaall L 5)) dpall and & 4y jraal) e sendl) T3
a. form s sl ((group of the words — <lelSll (4 4 sans” 5l "phrase -

2. indirect object

L(NP) 4aesd o le o5& L llle 5 caiilay 8 >>indirect object -Y



..(Functions of the "NP"— 4xau¥! s jlull (il 5 ) Jil8 2y 2alu*

indirect - sl e 4 Jsaia) (A 4ida gl 5 ¢ (NP) 4vend o jlie (& 4snall Of (-
..(object

b. function s& <l sall 13-
3. complement

OS5 o a5 05 2ay (complement— 41&%) J) e (il >>complement -
— aL&A) o a0 @ gl ol ol 4aSladda gy oo dy clalSU aall saa) Cuad o328
b. function s w5l 13 ((complement

4. subject

acanl o jlie s L llle il g Jeldl) o Taly oluisl WS ddaisa) of Jelal) ¢
..(NP)

Gl sall 131 ¢ Jeli (subject -deldll) oo 4ida gl 5 (NP) daesl ojle (o aiall o -
b. function s

5. noun phrase

g 4an¥ o jlall (S5 L Wle 5 cdiua & (42aY) s )lall - noun phrase) -©
el ccaita gl fpa 22al

..(subject) Jeld (4S5 28 )

..(object) 4 Jsrda (<5 8 -Y

..(direct object) _ilw 4 Jsrda (S5 28 oY
..(indirect object) il e 4 Jgria s<5 28 - ¢

a. form s <l sall 13-
Functions of the Noun Phrase (NP):
1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be
complete (except for imperative sentences where the subject is
unstated).

e.g. The old man is here.



~(NP) il 5 ) Jis oYI*

A o jlall sl "Noun Phrase" 4 Jlaial & (NP) of alas LS-
e o jlaall ddlisdl Caills g saLine

tle (Alay o) 588) (Ixise o Jold) =) [ dan) o jlaall Y1 4dida gl

One Clause " 13 ) «ald&i muail Jeld zliag aleall ()f dasl )l 3 paladll & Tl U S5
Jeldll ol Cun e Jad oLl | o JaiSe raay) Taiae 5l Jeld ) #Uisy "sentence
.. [ "unstated - 7 yad e e S

. pseie 43Y Jold aa o Y alaall o3 & >>Go study /die-
o deld ) sliag 5 Al JaAl) aen 8 oS
The old man is here:Jts-

! J«(Nominal group -4xul 4las) 54 s The old man<< s 4leall o3a & Jeldl)
L[ dele Aty g dven) Al Alraa

man<< (The head -usl_l)-
old s The<< (¥3&i 5

A.Q}A;.d\)_\ ah se i ol g 4c ganaS Jaad (The old man) A OIS pda JS-
& 03 SY LS" (NP) 4penV) Gl jlall (30 £ 58 A 5 (Nominal group -4y
bl Gl palaal)

.. (Simple Clause Sentence -4kl 4leall) 3¢l Jeli s " The old man" 13-
2. Direct Object of a Verb

Transitive verbs require an object. Monotransitive verbs take only one
direct object.

e.g. Ahmed finished hiswork.
pla Jadl dilal) A Jgndall 2Y [ A dgan) o lall 40Ul Al 6l)-

S Jrdl) (5 cania Jad gl a3Y J2d 0 sS 38 4il Jadll (e oLilh La (5 S35 23S 13-
5! Monotransitive) ¢S 38 el LSS a3l Jlad¥) oda 5 cdy Jsie e 5 5iny
.. Jeadills Gl Laals S5 ()2 (Ditransitive



Ahmed finished hiswork /Jie-
"Jsxadl alald a3 Jed - Monotransitive” s25 Jeli sa >>finished

«(NP) 2 13l ((Nominal Phrase -4 s lie) s >>his work

The Direct Object of verb "finished" -"finished"J=ill jilu Jsxia) el Lyl
The Direct Object -" his work" s La bl J sadall) |
..(is "his work"

Ol dn gl Jlaia¥l sa () sSus allall oda 8 g aleadl oda & aal g4y J smia Lyal T3l
..ba (The Direct Object - bl J g2iall) o5&

3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive
verbs. They take a direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)
The shopkeeper sold him some snacks. (... sold some snacks to him)
pla Jadl pdilia pid) Ay Jgadall 2 [ Azandl) o jlaadl AGIAY Al )

Ditransitive " sl e Ll BEB- LQSJ) Ol grda e s 5ind 4 PO Jlad) iany-
M srdal) 0 4w 3Y Jed) -Verbs

One " 5 Jdbdl 43 Jgaiall (e 22l 5 51"One direct object” 22l Jlad¥) o2a-
il el 4y Jsaddl (e 2al s 5 sI"indirect object

Lo8ke ) 58 (e g 8Ll Jndall ga e 8 O AY Al oda B-
(L s el s) He gave Khaled a book - /Jts-
(@lhasll pazs el &) The shopkeeper sold him some snacks -
lagie JS (8 (Y s2de 2a g Gilaad) (e b
rd oY) alaall o
.. d=dll ;4 >>gave
a book -Y « Khaled -) << (¥ sxda Ll 5

..(indirect object) s Y| 5 (direct object) s Lagia 2al 5 13-



zuail alaall 028 re-phrase sl LSl re-state aekiwi (gl oY) Jaal-
LW QUsll el s4)  (He gave a book to Khaled) << 13Sa

c okl J smaall () oS0 Lgalan Jadl) a5 pilie dgens¥l o jliadl Chela aleall oda 3
Lodle il Jgrdadl 8 "to" ae Dels Al (NP) 4sanY) o jlall 5

e Ll Jsaiall 58 >>Khaled 13-

el Js=idll 4 >>3 book

Jonll ans 030 US (b iS5 ol W) a0 aleal a5 sale) 48yl
el i Y Lany 5 L Gl Jad Sl

sailil) alead) 8-
. J=dll 4 >>s0|
some snacks -Y ¢ him -} << ¥ gnda Ll o
..(indirect object) s ,aYl 5 (direct object) s Legie aal 5 13-

zuail alaall 038 re-phrase sl LSl re-state aekiwi (gl oY) Jaal-
Ul el s8)  (The shopkeeper sold some snacks to him) << 1Xa
(A

LAl ud) Jgrdadl 4 "him" bl Jg2iall sa "some snacks” il oda -
8l sl Jgaid) 4 >>him 13-
< o8lall Js=dall 4 >>s0me snacks

4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of
another word/phrase/clause. It is necessary for the meaning to be
complete.

e.g. Ahmed is mybestfriend.

s, am, are, ) 455l Jab +Jolill AL - b dgan¥l o bl dal 1) Al gil-

:(was, were, been



«[is, am, are, was, were, been] : (sS5 8 (BE) 435Sl Jad () alad LeS-
..(Past Participle) 41 (=) 2 "been"” J=dll

(S Jladl DA (e (51) JadY) 03a UMA (pe Aleal) dipa Ul gt -

sale aliin o palaall sda 8 &l je33e Wl 83 Al g >>(complement -d{&fd\)-
SOV Ly

] @MM "("“j“:ﬁ" d‘g’s’; er [u%ub‘)ﬁ }i u‘dA; uu eJL}G }i ‘\ASS] . ‘“-’A w’ g_q_).‘)zj-
AT [Malaa"s i gl Males 4 o Jlie 4l 4dK]

csimal) (plail) JLeS) 1 o AL digda 5

e zemaios 5 AV ["alaas il gf "alea 4ai" 5 jlall 5l 4l cAL&AN (5 (g T
(S nay () il O ) e

(== It is necessary for the meaning to complete) / J) s*
complement / 2 <l sall
L(OEs il maad (51) irall laiY dage oa 4La&AN T3

aials ) 028 () Cua 4l 5 jpalaall & (AT 334 -another distinction) ali*
doga A ALK () Ladh SN jpualaall oda 8 (K1 5 cddgh e (oS3 "ALEA) ik "
el g Wihas vie (5 AT ["aleas j38 5l "dlen 428" o jle 5l 4] il alady
Ay

Ahmed is mybestfriend/Jbe-

¢[4an) 42 5030 -Nominal group:4e 55] (NP) 4xensl o e & <<my best friend -
Wil (51) (imall alaY daga L $ALEE Ll Liale (o€ cali&i el allal) o2 4 4

&5 (Ahmed is) 1ds& of LiSey (il JLaSY Lgalias
ST e s ) zlisd ¢ "Ahmed is" = 4leall oled) WiSay (g1) alaadl plel ddais aims
i sl Jad g Jelall e a5

Lyl s dleall 5 ¢ Jinall AL e uais aleall (my best friend) ¢ o 13-
LA e

Y bl $4y sa i Ja aleall oda 3 (NP) I Lk 13-

.. (is) 451 J2dl 5 (Ahmed) Jeldll 4184 2 " my best friend"-



Note: When the complement is a noun, it must agree with the subject in
number and gender.

Ahmed is theiruncle. (not “uncles” or “aunt”)
Sarah and Huda are theiraunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the
complement together.

In this case, the full verb BE is called a Copula (=something that joins

things together). There are othercopulas in English, for example, the _ __
; rakgale

——————

-

verbs “become” and “seem”.
coosiall 5 anall 8 Jelall pe 385 G a0l el Al&AN ) 55 Lanie

Al 3 painll 5 a0ell 8 668 U glay o camy Lad DS el elal 5 Jelall elal 13-
..(Complement of the Subject +BE -4 sl Jad 5 Jelall al&Al))

[ Ll olidBl ] a5 aaall ()5 S35
el 5o sl i < aasl
Lol — S A /e < Gaiall
Ahmed is theiruncle -)/Jt«
S35 3% >Ahmed: of a3l

S3 53 e >their uncle

s Jsdll LiSay Y
?13l! "Ahmed is their uncles" *

..&=> (their uncles) s 2% (Ahmed) oY-
L2ske LS of i) e sy 13-
$13L! "Ahmed is their aunt™
.. e 2523 (their uncles) s 83 aul (Ahmed) oY-
LSS o Y e g 1A

Sarah and Huda are theiraunts -Y



il 5 aen >Sarah and Huda: of a3t

il 5 aax >their aunts

s Jsdll LiSay Y
?13Ll " Sarah and Huda are their aunt" *

(their aunt) s aes Legil 51 (paads (e o Jle (Sarah and Huda) Y-
ke

e LS o oY) e cang 1A

(" aunts" &5 gen OS5 4l&S ) 4slss "Sarah and Huda" of l)-
13! " Sarah and Huda are their uncles™

08 e 3 g (uncles) s &Y e 255 (Sarah and Huda) oY-

LY e a g o a1 e cany 1A

(SLY) e 2523 @Y " quints” A& ) aslas Ll )

-
P N

Subject + Be ] "anl o jle ¢ 5S5 ALKAN" [ AL&h 5 435S Jad 5 Jeld ] Lal IS 130
g A=l = Jelal) e (340 Ol cany "al&Al 2 5" ansy) o jlalld [+ Complement
e il

e L&Al 5 Jelal) e dayy 8 dah andy JU 13 8 oY) 45 )l Jad

AT Jd aa g Y Y aelie Jad a5 onlad Jrd Jaall oda 3 () o 40 530 Jad*
(pein L) S Jamy 4l (51) Tae ala&All 5 Jeldll (e AS Jay 5 () 5 dlesnd

."copula - il Jadll" Leay ((mebal) 43 53S0 Jad) allal) o2a A T3
o iV g la gG& . gh"copula = Jayl 1) Jadl)™ A4S PRt

< [copula] = (is, am, are, was, were, been)"Be" bsY) 43 50l Jed 13-
.. dadd "Be"as i) Jad 4+ Jelal ala&Al) Alls

35Sl Jad ye 4y 3las¥) 42l 6 s AT (copulas -aday) ) Jladl) clla*
[0y Jia

become-



seem-
Al ARl 3 da S Slens Lt (Sladl) ()38

Ol aSia G slhaall (81 5o pualaall oda 8 ¢ Bladll (ylaa e alial | 53als o /) siSall J 53
LSl Jad pe 5 AT Jal gy llia G ) 58 s

5. The Complement of the Object
e.g. He found Faisal a good student.

In the previous example, the noun phrase “a goodstudent” is the
complement of the direct object “Faisal”. Compare the examples in (a)
and (b) below:

a. The teacher found Faisala book.

The teacher found a book for Faisal.

b. The teacher found Faisala good student.
The teacher found Faisal to be a good student.

IH

In example (a), “Faisal” an indirect object and “a book” is a direct object.

The sentence means that the teacher looked for a book to give to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a
complement. The sentence means that the teacher thinks that Faisal is a
good student.

DA Jgriall ALASA)) 0 [ A dgand) o jlill dialdd) Adul )
isiall sLY g ool a AL ol 5 S LS
He found Faisal a good student /Jb« -
Jell >>He: Lual
J=dll >>found
bl 43 J s=iall >>Faisal

" Ol aiay 43 L Jieallé (He found Faisal) (058 Lexie (JaiSh je inall oS5
LG e allallsda b il (13S 5 13S "Fajsal” Of ad s 4l ol 13K 1" Faisal



oda s 5 e 5 gdua OIS Jead ol Cusy "Faisal” as 4l U auaii Y-
saiiay Lo Ly ¢(He found Faisal a good student) I (Fxall sa Gl 138 o) Y
Caia s e "Faisal" of 4xd sy ol (il

AL&All o3 ()50 (e OY"Faisal" 4 saiall L84 4 (3 good student) 4l s2a i
LKL G () malld

..(a good student) 4xu¥! s jlall (5 50 "Faisal” 4 Jseiall Qi o S ol Sl 13-

«(So to state we said here again - a1 5 5 Lia sl Lo xaa il) -
Dbl 4 Jeasdll A& 8 (3 good student) asewl s jlall Gl JUA) 3
.."Faisal"

1disVl (b 5 @) (& abiaY) B [aliaY) (amy o jlais gl U Lo Jine rpnia il
The teacher found Faisala book -a

The teacher found Faisala good student -b

. Oliling Las o8l 50 3 () 5 (ligdliia Lagdl W) sty il (e

paleall Cari i amia () 8 oY) Al i

The teacher found a bookforFaisal

il QLS (e Giaad cad aleall 3

: aleall a5 i (b) (o 4 Allal) i

td st Of LiSay Dl (@) dlea (e 4dlisg aleall o2a-

The teacher found a good studentforFaisal

in Lo 13 ad Y ¢ Jomdl il U ey i s (e Canall Canly o) see
sl 1 e 4 i sale ) WS-

The teacher found Faisalto bea good student

o gae s sa Juaid ol "o aEiay sgd-



Py 7
. 8lhe e 4 Jsrie o "Faisal” < (a) JsY) Jadl -
o e 4 J 280 9 "3 book"
(S Jemd ) " oo LSS e )
L Seadl olae | 5 QS e aay alaall G a aleall-

o 35 4 Jpnia Ll Gl 8 ¢ ilie 43 Jpnia 2 "Faisal” < (b) 80 Jial -
il ola 5 (b) Jial

."Faisal" 4 Js2iall 4l&4 4 "a good student”

Calla s Jaasdh () aiay aleall ()] a3 alead) () U S5 LS

6. Object of a Preposition

n  u

Prepositions are words like “in”, “on”, “of” and “off” which are normally

followed by a noun phrase. The nounphrase that follows a preposition is
called the object of the preposition.

e.g. We are inthe same class.
He walked ona high platform.

In the two examples above, the noun phrases “the same class” and “a
high platform” function as the objects of the prepositions “in” and “on”
respectively.

s ol i el Jarda 20 [ A dzan) o jlall duialid) Aduli gl)-
NP Al o bz aa Bale I (in, on, of, Off) /e «clalS & jall Cag pa-

as) Lgpansi ag ) axdlly < ) Cajad Jgrde o sall Gooa 3058 Al 4panl) o Ll
o3l

ol el Jgmia sl "drdll ) gria" dleall J smia )5S 8 45 Ll LG
..(Object of a Preposition -_all Cajal Jsxia) & 4adagll 5 (NP) & 4xpall 13-

) Cial Jpnie o Ll b s iy any (NP) and 5 131 T30



We are inthe same class -V /Jt-
..(The proposition— _all <@ ) >>in

(Object of a -_all sl Jsria) (A 5 (NP) 4xend o e & >>the same class
..Preposition

Dlall s 405" (PP) sl 5 Jladl 3 jle agranwi >>in the same class
sl

He walked ona high platform -Y
..(The proposition— _all < x) >>0n

(Object of a -_all < jal Jsria) (A 5 (NP) 4xend o e -4 >>3 high platform
..Preposition

Dlall dlas 408" (PP) Lsoaall 5 )l 3le agaens >>0n a high platform
LMool

:(So to state we said here again - a1 5 s L olili L zua gil)*

a high ) s (the same class) 4xens¥! &l jlall ¢ eV & udlll cplliadl i
(s e -respectively) (on sin) sal) <asal J s Slasy (platform

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or
thing as another noun phrase (NP) that came before it.

e.g. Your friendAhmed Al-Aliis here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in
apposition to the noun phrase “yourfriend”. Both NPs “yourfriend” and
“Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including appositiontypes, in the
next lecture.

D oA M dlas Al dpacd o lad Jud) 2V [ A dzan) o jlall daglud) 4duli 1l



AT e o JuaS sl a5l et 8] ki iy Aamd o sl 58 1 Ja) iy i
sl s padill G Caial 4l Apan) o jlall O ) ) Ledd Ciela il 6 lall
( é}\)f\ ‘\gw‘)_” oJ\.:ud\ ‘; )}SJAS\

Loaddl) e e gla et LaalilS lillite Uela Gl o e Lual 131

sl 5l (and, but, ... etc.) dba Gl ¢optaan) (i jlall (o a6 25 Sla Gl 131
Lol iy e o el i e lasad g lianliie lals La i co

=2 () e o 5Leadl)JsW) ansW) axy Al 3 (Al Apans) 5 Hlaall) S 4V
Yl el 5 jlall Yoy a8y Jadi

Your friendAhmed Al-Ali is here/JVie-

..(The NP) s 4aau¥ o jle2l) >>Your friend -

.Jul) a5 ¢(The another NP) 45Ul 40auY) o jlall >>Ahmed Al-Ali -
Looaddll i e ol gai Layl 5 (6 a0 aailita Uiela Laalils -

.. Your friend 2 YxAhmed Al-Ali -

(Apposition) s (0)4 <~ sl (Opposition) C V588 1 gisall Lglld ads gala*

545 aib 5 4 > "Apposition” (A Cayay s
Lo oo O DAY a3 4 5 alide lalinad > "Opposition” ) Ll cla b <5 il
LA e

..(Apposition) < (A) <oy fag A & U a4 saill agyds gl o 1 gdaad o sy T3
:(to state we said here againust - s _al 5 5 Lia olill Lo proa 5il Ladi)*
.Ju & (Ahmed AI-Al) - ¢l JEal) 5-

.(Your friend) 4xe¥) o jlall Yoy 56 -

O’ (Ahmed Al-Ali) s (Your friend) oY) (i jlal) G -

o palaall [ sall Caga gl il ] elld Gaca e 5 gadl Cigoa e SiST Caaig®
Al

Exercise:



Choose the correct function for the underlined NPs:
a. Subject b.Object c.Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) dikay & L -)

Jeldl >>Hjs father

J=dl >>gave

.. (gave) J=ill 4 J 280 >>him

.. Ll (gave) J=dll 43 J sée >>some important advice

Lodle e AV 5 58l Lalaa) (Y gade Lol Lia T3l

8Ll Jsxiadl s 131 ¢(some important advice) s el s ol T3l
..(gave) J=all Hilw ne 4 J =i >>some important advice -

A ] 3 et a5 (gave) duill yilie s 4 seie >>him 13-

58 e Sl Ll allayl gtlal) inall U el aleall (i i sale ) LiSad -
D s pale Hall 5 Ll J grdal

His father gave some important advice to him
o le 4y Jpria 58 i) Ludiy 543 Jgie 8 >> (some important advice) 13-

Joria ail Jsally i 1A Gald IS8 Gl 5ol (S8 ada gl 58 JIpudl (& slladll*
b. Object s o) sall 13) ¢ jilia ye ol yile il &5 50 44

2. Ahmed’s uncle lives in Riyadh.

deld s 5 (NP) 4peusl o e 8 >>Ahmed’s uncle -Y
J=é >>ljves
..(Subject -Je\8) 5 (predicate -4 diwa) I zlisd alaall of ales LS -

Ahmed’s ) o Us asanl &l jall 5 asand e Sale )5S Jelall allall o3a b -
L el o 13 (JeliS Jaxi a5 (lives) d=dll Jd caels 3 5 (uncle



Ahmed’s " Jeldll I o2t L) (6) (predicate -4l i) & >>lives in Riyadh
."uncle

a. Subject sa <l sall 13-

3. Ahmed’s uncle is a successful businessman.

$¢Jelé (a successful businessman) Ja -Y
Ahmed’s uncle< s la Jeld Ll Y Y -
090 ol 484 i "is" 435S Jadl J s2ia (a successful businessman) Ja -

130 sl iy e ol gad lilliie lisan) Glibe 2a 5 Y Y Ja Gul 58 ol -
o da) de i

Zlin 43 s Jei g Jold Lpal S 13) L LS 5 calial) 5 Jpmiadl 1ot )5l Ul i
(AN a2y g1 ) eany AlES L)

o L&Al Al ol 8 (Mig" axy ALl ) #UsS >> (Ahmed’s uncle is) -

.." a successful businessman" 4y o jlall

L&A 038 1A calaall ¢ leil ddati aai &5 (Ahmed’s uncle is) Jsi O aekains Y -
«(The Complement of the Subject +BE) 4La8al Lpausi 13¢] 5 mall (&3 4aga
c. Complement s& < sall 13l

4. Khaled has a lot of books in his room.

.. (NP) 42euY) o 5liall >>his room -¢
o Cils A o e Ll (IS 1) Tl W LS 5 ¢ pa Cojay Gl (NP) of sl

b. Object & ol sall 13l ¢ jall o al JgrieS Jani Lgild
5. The teacher gave the students exercises.
Jeld >>The teacher -°

J=é >>gave



..(gave) J=dll 4 Jgria & 5 4peul o e >>the students
.(gave) J=ill 43 J s2ia 8 5 ausl >>exercises
..(gave) Jadll (¥ gxia lela Glan) Ll -
The teacher gave exercises to the students : il aleall (s 5 sale ) LSy -

8k 4 Jsaie 98 5 (gave) J=ill 4 J ;2 >>exercises -
b. s lsall T3l il e 45 Jsrie 585 (gave) Jrdll 43 Js2ie >>students -
Object

6. My brother Saleh studies at King Faisal University.
..(Nominal group -4xeul 4c ga3s) Lee ¢ caranl o e >>My brother -1
..(Proper Noun — ple aul) lee 5 cdansl o e >>Saleh
At Gad 8l e ()10 gey Laa DS 5 palliie ela aganY) o laadl &) 530 (e e g5 -

G:;A.ai Ehaanidll P‘ ial c"[\/ly brother" 4le 3 g2 L..gﬂ\ wadill udd e g "Sgleh” -
..(Saleh)

ot o dgny s AT aul e ela anl AV ((Ja) o) alin) bshadll au¥) -
d. Appositive s& il sall 131 "J ) an¥) (udi 1" AV and) 4gle 3 sy A Gadill

7. The manager found him a hard working employee.

¢ a hard working employee ] 4&das & L -V

5o 138 G Y 98 apdaayl agine e e Gl Caad paall (o aleadl oda Jee Ja -
b e sl iy saaall O (& aleall a3l aiall inad) - aleall oded masall el
i dale

ke ela B8 5" him" << A g aal g4 J grie Jasd Lnal

.4 Jsxiall J&4 s i 40 Jsxie ol 8 (a hard working employee) 131 -

The manager found him to be a hard : Js&# aleall o2a i i sale) Li€a, -
c. Complement s < 52l 13 ¢ working employee

__J}M\})@\EJL}QQQJddﬂ\&%d&\b)&@\g&m*

¢ (Complement of Object) s (Indirect Object) Cej,ﬁ oS [J) g
e Lga seie aluitul g alaal) cagi i salely el gl



Types of Apposition
Jad) &\}ﬁ
Judl £15 Types of Apposition :

In Lecture 6, we mentioned that one of the functions of the noun phrase
(NP) is as an appositive. We defined an appositive as a noun phrase that
describes the same person or thing as another noun phrase that came

before it.
In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

s b ST (S die Caain g ¢ dasalad) 5 palaall 8 Jad) Ldad ¢y 5 S35 WS-
bl Catllag aa) ga saddag ga Jadl o Wl LS ¢ act gl 83 Cua ¢ 5 paladll
NPA&DM;\MY\EJM\}c%Y\

Aansl 5 laS o L3N a5l (adlll (adi Cimy dgand 3ole 58 1 Jaull iy e LSy
sl i ) pad Bl Gl Coimy dganl 3k 58 (5l ) L Leld Cela Al 5 lall (A
(Y e 5 jlall B S

i ¢l 5l Gaddll Gliad LaalilS 5 5 AY) axy 8 Laalaa) Glisen) (6 e Lal 13-
o G 4080 3 el G 6T ¢ (and, but, .. etc.) Skl s ol dald Lagin aa Y
Q}‘)“ BJ\_.\:J\ Adia g L;’m c‘;‘ﬂ\ Ji ua;..ﬂ\

Ldad) )l (i 5 jualaall 028 8-

(23ne ) e g ¢ (23na ) e 058 8 ol

(s Gle ) s ) e S8l e 32 s g restriction o o253k restrictive -
A. Restrictive Apposition

e.g. Your friendAhmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of
the first NP “your friend” by giving an answer to the question
“Whichfriend?”



We call the NP “Ahmed Al-Ali” in the previous example a restrictive
appositive.

Note: In this type of apposition we do not use commas before and after

the appositive.
p al) Jad) -

Your friendAhmed Al-Ali is here /Jis

4aaul 3 5ie NP <<Your friend

Ju (A 5 4anl 3 e NP <<Ahmed Al-Ali

Y A o laadl amy Caela AUl danY) 5 jlaall anyl e fela LaadS-
J c - J o
Y el & Caay sl (et i) (i Cidia s g3 Jad) o 4glll o ) -

(el 245 (1) xall 38 ( Ahmed AL-AIT) 458 4pand) o jlel) Jladl 128 b -
eIV Aas ol

2l 38 )¢ Gadea (sl e Caaat W Seall e o sSems (A friend is here ) Ul 13-
@) st 5 el Jlu (la Jaine (580 38 Gada ol 13) ¢ (&) L ol caeal calls

(G

asan) o jluall WIS a5 Uigh (- Your friendAhmed Al-Ali ) @ Jsii lexie (S5
. (Ahmed Al-Ali ) 4l 4weu) o 5Ll ((Your friend)

il adayl 3 sl Jle sl ( Ahmed ALFALT ) Of -

(9384 Jx ) 3 v = ( Ahmed Al-Ali ) 4lall s 313 -
Lo dall axy s U Jaal s andins ¥ Jad) (e g sl 1o 8 adigale
. el sh a5 4ld 2a 5 Y ( Ahmed Al-Ali ) Jad) o Jiall o ) glaadis 1) -

.. Jual gall PREGHARE &‘-"5‘ tjﬂ\ -

B. Non-restrictive Apposition
e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is
unique and does not need modification. The second NP “your old friend”



does not tell us which “Ahmed Al-Ali” is here but only adds information

about him.

We call the NP “your old friend” in this example a non-restrictive
appositive.

Note: In this type, we use commas before and after the appositive.

p e ) dad) -

Ahmed Al-Ali, your old friend, is here /i

4l 3 )le NP <<Ahmed Al-Ali

Ju (A 5 4anl 3 ke NP <<your old friend

(V) dpansl o leadl axy el 4l dpans) 5 lall ) Lagaansd (pulliia fela LaaDIS-
s o al) (B Caay () paddll Ll b s LY ol A 4l ol -

Ahmed ) o s¥) 4sal) o jlall 323 Sels (your old friend ) 45Ul azew¥) o jlall -
. (Al

(nall 345 (5f) il S (your old friend ) 4Gl 4xenY) o jlall JUall 138 i -

.. é}‘)ﬂ @M‘)f\ bJ\_pd]

& 5 «( Ahmed Al-Ali ) = Llay Ul L oliled La (€1 5 bl Jliall 4liie JUiall 28—

..( Your friend) 2~ (Ahmed Al-Alj) slx 3841 Jad)

i Y A 5 muna ol g (Ahmed Al-Ali ) (Y asanl) o jlall cadlall o3 i
Lnand gl Jaaed )zl Y (e 4 ol i) iy Y a3a adf ) A

fasd 32300 (| —~Which old friend? ) :Jlusiv «(your old friend ) : <l J& Laxie-
A

Omre padd 8 Ahmed Al-Ali O W alxiv ( Ahmed Al-AlT ) ¢ el J& Laie (K15
4 slaa e o e 54 (your old friend ) Gl 3¢ 5 eal plai Y 5 (238%)

o 3 e o) 130 ¢ V5Y1 ¥l o jlal) 8 S5 (31 inal) a3 Gl 4l
Loodny g Jall 13a i Jeal g linia g 5 (9384 e ) Nk

Lodxy g Ald Jual b liniag 5 384 e Ju s (your old friend ) 13-

o dall aay s 08 sl 58 aadiss Juall e g sill 13a 8 radi gala



Exercise:

Decide whether the appositive in the following sentences is restrictive or
non-restrictive:

b. non-restrictive a. restrictive
1. The shopkeeper Othman is a hard working man.
4aaul 3 e NP >>The shopkeeper -)

Ju (A5 4l 3 )Le NP >>0Othman
(V) dpansl o leadl axy el 4l dpans) 5 lall ) Lagaand Gpulliie fela Laa IS
c ) ol b Caah s Gt ) i i LY Jadll a4l o jluall -
..Ju s 13 The shopkeeper 2 s\ Othman-

@) A ais 38 Ugd ( The shopkeeper is a hard working man ) Jsi Lexie-
« shopkeeper

.( $2a®i &34 &1 —Which shopkeeper you mean? ) :Jlus 38

Ue¢d ( The shopkeeper Othman is a hard working man ) : Jsi Laie (<l -
‘5:;.3.3 L gadd e Gaath gal uyu cé;‘}” daan) o jlaall Lﬁ :)SS gﬁﬂ‘ zall L}.A:ﬁ
.. &b s Al 5 Othman

a. restrictive s <lsall 13 ¢ e Ju 58 Othman dlall sda &
2. Dr. Omar, my Linguistics professor, published a book.
4l 3l NP >>Dr. Omar -Y

Ju (A 5 4enl 3 e NP >>my Linguistics professor

my Linguistics ) 4xlll alal (5 ysud 550 4 5 ( Dr. Omar ) = sy Ll La-
oo Ol e (U «( professor

3 ¢l (‘my Linguistics professor ) s ol s¥) 4su¥! s jLall 8 ( Dr. Omar )-
..l aaan) c‘)\__ud\ 9 ;\J\ é}‘}” Aranly! c‘)\__\aj\



( Dr. Omar ) W« iaall 2@ 5 343 Y 453 5 Ja 8 ( my Linguistics professor )-
058 4 e —Who is Dr. Omar? ) :Jbus ol chsially (sl @ (e ales o
LAzl alad ) gudg g 58 Dr. Omar Lswd sl of Glaley aaiisall 5 Caasiall ¢ € jee

b. non-restrictive s «lsall 13) ¢ S8a e Ju s ( my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4aenl 3Le NP >> Majid and Saleh-Y

431l 4paul 3 e NP >>my cousins
Lo Laa Ll 5 (il i e ()3 gay Laa SIS
..( Majid and Saleh ) Olassall Glaw¥) 2 5l 223 Y (' my cousins )-
b. non-restrictive s <l 13 ¢ S e Jy 58 ('my cousins ) cdlal) sda i -

Prepositional Phrase
Dsoaally Jladls e

2924lly J\adl 3 e Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is
followed by a noun phrase (NP).

e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional
phrase. It has a preposition “in” and an NP “the classroom”. The function
of the NP in this sentence is the complement of the preposition “in”.

A preposition normally comes before an NP, but it can also be separated
from its NP as in:

e.g. The man is standing onthe platform.
What is the man standing on?
The platform that the man stood on was very narrow.

However, in these examples, the association between preposition and
NP still exists.



__J}J;AS\} )\;j\ EJL}Q é‘dﬁl‘-‘“uy‘--

day 5 A Al o jlall Adk 5 & Qi US55 aalls el s ke e Tl W
ool Jallsle e sall Caa s senll s bl e IS < all i a

Laa 73] clae dgand o e 5 a s dsas bl o 5 saalls el 5 ke 13-
(osoaalls Jadl s sbe Jaly sl o sle Waladl 51 ) AT osbe Jalus e 35a s

. NP 4an o jlmy ) 235 03l ((in, on, .. etc. ) @ o alai LS jall oy a-
Mohammed is in the classroom /Jt«-
.. saay ka3 le & >>in the classroom
LA A >>0n
4ausl o jle NP e >>the classroom
4renl 42 5030 Nominal group e 5
. (in) ool Gl Jsnia Ll o aleall oda L dnanl) o jlal) didda -

5 4alSll o3a ) 503al Jc (complement) s 5 ke Uad o gy adl 585 ) giSal) Lia
.. (object) | s

&WY\DJ\A’J\d.sas.ﬁ.ﬁuﬁ}cw\ﬁ\a)hﬂ\dﬁé\_}‘)ﬂ\u);u\wﬂ\w-
o) (e alaall 8 5edai V8 dpensY) Gl jladl Gla¥) (ani agreni B 5 all G

t(AzanYl olaadl 5 all ) Legia SIS Lual Y1 Jlall 8-
The man is standing onthe platform

3 5 (Object of the preposition) Jall < sl Jsxie 8 >>0n the platform
L o3allS pallie Ll Lagia

o | g WA
What is the man standing on?  /Js% 8
Ldaol ade g e i gl 4n Jsadall e Jlud Lia-

Laleadloda G jelai W (4 o jall) the platform-



U:"’Lf\) JP}AJ\J\AMJLJ\‘)J&M uﬁ}c‘)ﬂ\uﬁusmw\j\c‘)hﬂ\;\d\-
e o bl elain ailad) Jlsaadl e aslas 1130 ¢ Asan¥l ol g sall s
.J2224 (the platform)

..He is standing on the platform>> ¢ sSas il sall 13-

ol G gAY o ) G dasl i cllia J) ke Slad 13 -

=l O

The platform that the man stood on was very narrow

. ba caaiidl clause gy (Sedl (e-

s on _all Gaa Jié Cels The platform sy o jlali-
..(subject— 1xiw) sa 13 JS " The platform that the man stood "-

Jd el ;\.\4.1”\ Araly! c‘)\__ud\ 5 cdrany) c‘)\_}aj\ oe ‘);j\ TN Lliad JU) 124 L__;"
BRSNS TN

J e dag) il () g dpansll o laadl (e el G Lgd Jiad) Al YA (oax o3a-
(03] 5 03 5 V) la) Lagin aal 5ia

However, in these examples, the association between preposition and
NP still exists.

Prepositionalphrases can express a number of ideas, including:

1. Place e.g. The book is on the desk.

2. Movement e.g. He walked to the mosque.

3. Time e.g. | finished the exam in one hour.

4. Manner e.g. He finished it withlittleeffort.

5. Purpose e.g. This message is forAhmed.

6. Agency e.g. The window was broken by the young boy.
(Passive)

7. Instrument e.g. | wrote witha pen.

osoaall s Hladl al el claladiny) ua:ué\ uiﬁ\ 5yl @U-



rdedi 5 JISEY) e 220 o iad B g sad) 5 el & e
Oali>>Place -)

ool Jlall s e alaaiul le o LA Se e Euaall) LiSay-

The book is on the desk /JGs-

Lee i OSa e Uydg PP soses s 3 ke (4 >>0n the desk
L lee ol gl e S y5saas s 3be A on the desk 13-
SRR — JEYI>>Movement -Y

He walked to the mosque /Jt«-

- aaall ) oo 13a SN 5 e ) cad g JE L padid (JERY) e jied o La-
.. (the mosque

L JeEN S JEsy) e e SR U 5 yla s lbe A >> to the mosque-
Sl — cd gl >>Time -Y
| finished the exam in one hour /JGe-

5 s soke oA 13 QLY el Leinsd Sl 4t 3l o il a>> in one hour-
LB ) el e g s e

Al — b i Jes b L gadd dglu — csbud >>Manner -¢
He finished it withlittleeffort /JVs-

i s yaay ol solke oA 1)) e oAl 13d 0 5led) ARy yla S >> with little effort-
Llbeed dae il padd @l gl f gl e

L s S L e o8 i) A8k 13-
B — 48 — (2 £ — 4l >>Purpose -°

Lo oo Jand Glina ol clalaial gale - €aaill 138 ) iy 138 Ja " a3 1 Purpose-
"l s o8 e Jsaanll

This message is forAhmed /JGe-

D gaddl e ) el a5 Hsmas Ja s lke & >> for Ahmed-



L(aeaY kel o e sl ) 2l sl Sl Al )l e3a T3

La "g“i‘ o) aa) dda) g9 — adail g - IS >>Agency -1

all) 5 (passive voice — Jsexall Fdll) e alud) K3l )2 (e (g5 83 23K 13-
< Agent I A8l oSy Jsgaall Siall L ()] ) sialed 8 ¢(Active voice - asizall
by ol i alasiu Aaud g 4l

The window was broken by the young boy /J%-
.. oalal) (Jaa @i sa the young boy-

« The young boy broke the window : Js& (Active voice - aslxall Siwdl) i-
1+ ool e alead) el la

Jeld >> The young boy-

.4 Jsniall dleas 5 (The window) 33l (Active voice - asteall adll) 8-
.. il al=as 5 >> (The window) 23U (passive voice — Jseaall isal) 8 (S
45 50Kl J=8 >>was

Js2idl aul —past participle >>broken

L& (Verbal grope— 43lxdll 4c sendll) ¢153f (s2a) 4 BE + Past Participle -

O SS
AalaiSa alea LY alSia i Gl «The window was broken:dsi o Saadl (e -

by ) 4 b_S& 4 The window was broken by the young boy: Jsi Lexie (Sl s-
J2é 3 "The agent — JS slledalall" 5 addll U S3 38 ) &5 (the young boy
(U adass 58 5) L ol

5 S l- Agency) Il e iad s omas Jla 3oke & >> by the young boy -
. (Al

o3l >>Instrument -V

| wrote witha pen /Jt«-



ol sl g pen Cwadiu ;\3}-

BVl e S j5gae 5 JaBle & >> with a pen-

Exercise:

Choose the meaning expressed by the Prepositional Phrase in the

following sentences:

a. place b. time C. manner d. instrument

1. My office is located on Riyadh Road.

93a1- shud- (e 08 & Ja Sl o il ale >>0n Riyadh Road -)

a. place s <l sall 13) ¢ lSa 4l eal M1 (ya -

2. He graduated college with a good GPA.

93)al- shud- e -0l & Ja Sl o Sill Al >>with a good GPA -Y

c. manner s <l sall 13) ¢ alla 43)-

3. He fixed the door with a hammer.

with a hammer -Y

( He used a hammer to fix the — <Ll Z3ay 48 hall axdiul ) ¢ slal L -
..door

d. instrument s <l sall 13-

4. They will visit us on Monday.

93lal-c shul- (e 3 0lSe o8 Ja Slia o Sl 4l >>0n Monday -¢

O sl 4] aakalls

b. time s lsall 13) ¢ iV o gy € e Wiy s o

5. The artist finished the sculpture with great talent.

93l shul- (e 0l & Ja Sl oS3l ale >>with great talent -©



Lo ol Y aaic 4 gay (Jhall) i saiall Lol g8 1)) L g il Alla -

c. manner s& <l sall 13 ¢ a3 aidl ol dadae A ar

Functions of the PP
Dol 5 olalls e il

2aliu OY) 5 (NP AzansY) o jladl Cailda g e Wians 4Bilull o jualaall 8 05 S35 LeS-
LPP sl pladl s jle cailla

il gl g dnaall G (3 Al A8 SLG Caila ) oda ) (5 ks ) Js-
..(word-phrase-clause) J) 4 Jeda (53 edadd) i JI o rdisall-
..alaall 3 (word-phrase-clause) I Jesll (e o jlie oo 14l -
PP il g e Cuaall JeSs oY) -

29l g i B e Ciils sFunctions of the Prepositional Phrase:
&ul1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information
about another noun/phrase/clause. It is an optional part of the
sentence. If we remove an adjunct, the meaning will still be complete
and the sentence will still be grammatical. It is not a necessary part of

the structure of a sentence. Adjuncts are usually adverbials.

As an adjunct, a prepositional phrase is considered an adverbialphrase
because it does the same job as an adverbial.

An adverbial is a group of words that does the same job as an adverb. In
other words, adverbials can be used to say when, where or how
something happened.

e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where
something happened.

| finished the exam in one hour. (adverbials of time)

This PP is an adjunct that tells us when something happened.



He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.
s ) asds gl

s el -

LS 0SS S s aally sl &l e 13-

Oe 48l daslaa 238 5l 35 (Word-phrase-clause) oe oobe 5o 1 gl ciy i
.. Al (word-phrase-clause)

5 ) G oM B ey ¢ AL&AN e Al 8 (59 i gl 5 bl (50 ol T30
REAVCA||

b OS¢ il Qo LY Lgaladiingl Cangy 54y 55 e 4LaSAN (o Ul 48l o pualaal) i
bl e e ol a3y alaall b aiilial die JWS) dglee (ol an gy Y

palaiins) (Saall (e T3] Maleall 8 (s HUER) £ a sa" (el U ) (o LER) Sy il
ol o

M) e ) e didaia® 4y g it leadl g S i ealls il L] 13-
M\@a&c\sﬂcﬁ‘)}ﬂ‘ﬁcg}@\ﬂ\-

22 adverbials 4 (e 2 seaialle b j2inn ¢ "a s )k —adverbials” 0585 Ble gl 51 -

il Jeo s Jand Y 40yl o jlaS Jalad o) 5825 55 jaall 5 jlall s e ¢ ailis-
Y 4 lall o jlal) dlalaa Jalad Lgild "adld" 5 pmall s el 3 jle ddida s ¢ 5S35 Laie (41)

.. (adverb -Jall) Jae (usi Jasi Sl LSl (e 4o gana (o 1 4gh Bl

s (S 5 0l 5 i) oo Ui Aal a1 Jadl (il e Jadl v 58 Le () salad 8-
Llep ol Gigaa s

LS Jalah 51 8 5l Jall e Aidy ¢ Lasic
The man stood on a high platform /) J&

. Laxg alaal) el Aoy aai o (Sadll (e 5 4leiSe 4lea 4 The man stood-



Ol 1 s i) iee Ll 38 (S5 (0N a high platform) @b Ll 13) oS5
Caaal) 4 o Al IS Likal 38 Ligh € Cad

Cllhgsc Hyomas Dlasbe lihua ¢ 4plSa 4 )l & >> 0n a high platform-
e salaall g5 e il O Wl LSy ¢ Lo g i Cagan (S (e Uiy &l
odladind Sadll

| finished the exam in one hour /YJa
.. 4xla ) 448 15 0284 >> in one hour-
Lol gl 3 algl 5o 1Y) ¢ Lo o b b el A aia )l o jil) e Uy Lila

s eadaad) e aabaginl (Saall e cadi & 5 H5 e 5 Jla 3 ke & >>inone hour-
gt e alaall dasy L sa

He finished the exam with little effort /¥J&

.. (Manner -da ) e JY% >> with little effort-

Lledlls e Uy oA JEal 1 b Leia 5 s Al iyl Ll T

(B aga ol € LaaY) Lol Ca) cle o Chgan S e Uiy o) L T3l

a=i 5 He finished the exam: Js o WS 43Y ai s >> with little effort-
- aleall o\l Ak

Note: Compare the definition of adjuncts in this lecture with the
definition of complements in Lecture 6.

A complement is necessary for the meaning to be complete. If we
remove it, the meaning will be incomplete and the sentence will be
ungrammatical.

An adjunct is not necessary for the meaning to be complete. It gives

extra information. If we remove it, the sentence will still be grammatical.

o WL Sh il LKA G 5 o_ualaall o 8 lali 83 il al il oy (o iim
43.1\.».»3\ a)'a\;.d\

L aia el a4 ) 5 e COLSAN () Acalull 6 ualaall 8 LilE LS



LSS il 0 6 of Ll 13 cdla&all ) bias 13-

LAsad e S alaall 5 JaiSe e O sSan (Sralld JaSAll Basial 13)-

L Adla) dagles Y inall JUSY (55 0m e ) el sl Alla 3 Jiaa) o
cadaadl (8ol ) 4 slra ()5S ol

Wil e dliayl ag o s aleadl 5 s Y sa LS i Jixalld o) Lasiad 13)-
Lolomh Y L LS iy alaally el (€1 5 ailial) 4 glall adsin

LA g g e i) 5 caleal) B imad) JLSY 4y 5 aLa&Al) 1)
2. Complement of Subject +BE
e.g. Thebookison the desk.

In this example, the prepositional phrase “on the desk” is the
complement of the subject “thebook” and the main verb to BE “is”.

DA A4l gl )
=5 i) Jod + Jelall ali&4 -

L 5 () 5S35 38 sl o jlaad) () L8 Ll () 5 5S35 LaS dans) o jlaall aliia & 5l 128
.. BE4Ss3SN Jad + Jelall 414

Thebookison the desk /Jt«
JeWl >>The book
..(main verb— wlul J28) s 543538 Jad >>is
LSS Wl g0 5me 5 s s)ke Ldua >>0n the desk
L e Sl ans Labiaagin WY al&E Cela s el 5 el s jle Lan

e 5 Al pe aleall ) i dleall el Ak L s o5 The book Ll 13 13-

LA
3. Post-modifier in an NP

e.g. Thedeskin the classroom is covered with books.



In this example, the prepositional phrase “in the classroom” modifies the
noun phrase (NP) “thedesk”. The NP is the head and the PP is a post-
modifier because it comes after the head.

L oA A3 Akl

saanl o jlie (A (g Jama Y

b oSa 3 VAN O BSY 5 eV andl e g dsanY] o sleall (e Tie Laas
(o dd Sl ) 4l Y e
() e A ) ey Y e

Thedeskin the classroom is covered with books /Jts

4anl o e NP>>The desk

Cila glaa Cauiay 40d (S Jae o g e oLl e ¢ a4 >>in the classroom
gl e

Lgeaiinsd 4y ,hall 028 131 <"it" 5 (The desk in the classroom) Jlasiul GSaall e
__WY\DJL\:J\QA&);)}MUJN\EJ\_}G L_UlS\J‘LQL_Q‘)’:A

pJsii Ll apan) o jlall Ja it raall aazai o) (el (g T3
It is covered with books
e agansYl o)Ll 038 5 cdzaul s e & The desk in the classroom 13-

@ 5 ¢ (in the classroom) soaalls Jadl s le 5 (the desk) 4sewY) o )bl
= alladl oda

(the head — 1Y) >> desk
" desk" ol U ela 43Y (pre-modifier— L8 J2%) >>the

skl & (post-modifier— a0 J=4) >>in the classroom

The ) 4xau¥) o jlall 32 (in the classroom) Lsoaalls Jladl 5 jbe 1 Ul 1aa &
.. (desk

Gl 1) 2my Cela WY (gam Jnh (& D goaalls Jlall s be 5 Gl )l (o 4l o luall-



4. Complement of an Adjective
e.g. Ahmed is goodat Mathematics.

In this example, the prepositional phrase “at Mathematics” is the
complement of the adjective “good”.

We will discuss adjectives in more detail in the coming lectures.
oY 5 )l 4igls )
» 43l AJ;A’SQ -¢

Cliall 4L&AN e Jseandl WiSay L 5 ¢ inall JSY 4 )5 i A 4L&All (5 530 6 s

Ahmed is goodat Mathematics /JGe-
Jeld >>Ahmed
J=d >>is
Al &) palaall A Gldall 8l (ada >>good

JLaSY 4y 5 puin 4 slaa Lidani o jlall 038 ¢ 5 yae 5 a3 lie >>at Mathematics
ALl o3 b el

C(Tun o Nle o) San s ad ) 1 Jliivée (Ahmed is good) 1 Js Lediad-

at MathematicsAhmed is good: Jsii 5 4leall JuS5 o o

."good" 4ball aliSh a "at Mathematics" saalls Jlall 3 e (JUll 138 -
.. 4wl Ol pualaall & Cliall e i Wl w jS5 Ls-

Exercise:

Choose the correct function for the underlined PP.

c. adjunct a. complement of subject+BE



d. post-modifier in an NP b. complement of an adjective
1. We finished our exam in 2 hours.
foam Jaaa U falass & Ja >>in 2 hours -)

51 "it" = (our exam in 2 hours) Jaiul LiSay Y 43 (g Janh Cad o aglad) &
LA laa Sl
We finished 4leal) zaais in 2 hours dagies off LiSey 45Y) Liagf alasi casdd 8 5

s el e 4] il slaa Lithae | jn 2 hours oS! 5 (el AlaiSs 4lea our exam
ol o e ) 3] cd gl

A A a5 i e agilia) daslaaS Cola Ll LS casila ) 45k 4 in 2 hours 13-
c. adjunct s <l sl 13 ok

2. We visited the big shop in the mall.

delll >>We -Y

J=dll >>visited

saal 5 oaa 5 Ll () saadli >>the big shop in the mall
We visited it: s of (Saall (ye-

Wil 6l ) (imall JLaSY o laadl o2a dalay o (i Cand 4 in the mall Al 238 &
g Jane (o cunall 13ed ¢ (Sl aiall (e ddlia) e slaa Uihanil s jliall 238 dalay
..(the big shop) 4w o jlall

. Lie Yoy "it" aazai 5 (the big shop in the mall) 4xas¥) o jlall Jlaviul LSy
4xaul o e NP>>the big shop

d. post- s <)l " the big shop" 4xew¥) o jlall (203 J2a >>in the mall
modifier in an NP

3. Mohammed is fluent in English.
Jdeld >>Mohammed -Y
Jadll >>js

4 >>fluent



fluent 4iall 4184 & >>in English

9 13l B (gIfmuad oo ad 1l 28 ((Mohammed is fluent?) 1J s Laie-
2all JUSY "in English" zUsi «§fmuxd

b. complement of an adjective s <l sl 1)

4. Ahmed was in his uncle’s house.

Jeld >>Ahmed - ¢

J=é >>was
e ) JWSY (55 pia alaadl 028 8 W sa 5 >>in his uncle’s house
o adeadl JLSY 4alan (a3 L ¢ (a3 5 Ahmed was:Jll LiSe Y -

a. s ) sall 1)) ¢ 4350l Jed + Jeldll aleSa & >>in his uncle’s house 13-
complement of subject+BE

5. Ahmed’s uncle has a big TV in his house.
Jeldll >>Ahmed’s uncle -°
Jadll >>has
4l o e NP >>3 big TV
NEE Lidkas oo Lalia ¢ j5,me 5 Ja3ke >>in his house
.. (has) 4538l J=8 + (Ahmed’s uncle) JeWll 41k .4 3 big TV aokll-

b ixall JUSY 4y )5 i e dgilial 4a slaa LS <25 & (in his house) 13 -
Al

¢ Lol 4 a5 iaal) ALia alea (5585 Ahmed’s uncle has a big TV: Jsall WiSe-
- Agilial 4a sl Wnal (4 5Siud " jn his house" i Laie (<1 g

alSigy A Sk ady cl" 1 g aleadl e (in his house) Lsaa 131 J) sud) & sSaus 131 -
"?mi (;c.

AlSe Ak gd ol o goaally Jlall s jle dda s T3l

c. adjunct sa <l sall 13-




i pmladll 3 1L ) il ) 5 a5l slal) (e Adlide £ 5 e yanll e
. 3als clause (e ST e g giad ) 5 Taiad ST a4 38l 5 ST Gt 5 calidal



